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A & 0l & AF 2 E A A
2019 &= =0l &k LEEAH SN ~ 220
2H: 230
A BU=TE
S 2T P EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E 30l =t 31,242,946 23,154,541 8,088,405
= 3,373,385
Xl 1,524,000
J| 1,264,880
< 2,798,875
Al 22,281,806
Zsto=ds 6,656,450 7,326,216 A 669,766
Xl 300,000
J| 1,264,880
< 607,652
Al 4,483,918
FST Al 2E 1,433,000 1,481,000 A 48,000
Xl 300,000
< 135,000
Al 998,000
F2ASHNG (2T AN) T LA 750,000 750,000 0
Xl 300,000
< 135,000
Al 315,000
307 21201 A 750,000 750,000 0
Xl 300,000
< 135,000
Al 315,000
02 IS AHE L 750,000 750,000 0
ORsSaAXNG (2= Al)THE AL
750,000,000 750,000
Xl 300,000
< 135,000
Al 315,000
FaANHEA 2F 14,000 0 14,000
201 Let24d] 6,000 0 6,000
03 &AL Z I 6,000 0 6,000
OZsANHEA 29 |A3AS
2,000,000 = 33l 6,000
301 et a = 8,000 0 8,000
09 &AL HI B A S 8,000 0 8,000
O=FstANbdAs 2 WA Ad 24
20,000& = 40¥ = 103/ 8,000
SOLAIOIZS Al R EAAS 150,000 200,000 A 50,000
307 glz2+ol & 150,000 200,000 A 50,000
02 QIZtE A AHE X 150,000 200,000 A 50,000
OSO0LAIOLZ2 8t Al WFRAHY 150,000, 000& 150,000
oA A 29 100,000 150,000 50,000
307 21201 A 100,000 150,000 250,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 100,000 150,000 A50,000
oOXItHARL 29 100,000, 000& 100,000
Rote HAENE 200,000 280,000 280,000
307 glz2+0l & 200,000 280,000 A 80,000
02 HAHFHAANGFEX 200,000 280,000 280,000
OXItsr HAEE™ 200,000,000& * 12/ 200,000
FR=s)Is0 24 7,000 7,000 0
307 giz2tol & 7,000 7,000 0
02 LAFLAFEX 7,000 7,000 0
O&HA=SII=0 A 7,000,000& = 13l 7,000
SEfFdse 29 8,000 10,000 A 2,000
307 gl2tol & 8,000 10,000 A 2,000
02 IZtA M AHE X 8,000 10,000 A 2,000
O8EFid=se 24 8,000,000& = 13l 8,000
KNS 2t (e )@ A F=A 65,000 65,000 0
307 g1zl & 65,000 65,000 0
04 QIZFHALAIH 2 = 65,000 65,000 0
OX =23t (3tE) & A 65,000,000 65,000
= AQ FH=3En 9,000 9,000 0
307 21201 A 9,000 9,000 0
02 HAFAAHEX 9,000 9,000 0
OANg=0Z5sts 9,000,000& 9,000
= A0 Mot 28 2 H 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 It S AHEE L 10,000 10,000 0
O = AlSL SHots =2 2
10,000, 000& 10,000
=N 23 S| LA =8 120,000 0 120,000
207 RO ] 120,000 0 120,000
01 289 120,000 0 120,000
OFFAl 23X S&TI| 2= =8 22
120,000, 000& 120,000
oo =HAL XA 2,783,885 3,622,785 A 838,900
= 368,300
Al 2,415,585
EF23d Ftol=dA XA 63,900 71,000 AT,100
307 glz2+ol & 63,900 71,000 AT7,100
02 LIt AMAHEE 63,900 71,000 A7,100




2H: 230
A BU=TE
& S3o=AM X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFF=3d ZHME AN ESH|
63,900,000& * 1JH A 63,900
AKX AHZ XA GICHE 60,000 60,000 0
< 30,000
Al 30,000
307 gl2tol & 60,000 60,000 0
< 30,000
Al 30,000
04 DIZHHALALSE E X 60,000 60,000 0
OFF=HXIMAZ2 XA Ol CH A
60,000,000& = 13l 60,000
< 30,000
Al 30,000
X230l =2 A 32,300 32,300 0
< 32,300
307 21201 A 32,300 32,300 0
< 32,300
04 DIZHHALALSE E X 32,300 32,300 0
OXNgEa=a8AMN NA(ES2AMHIS)
2,300,000& = 13l 32,300
< 32,300
SZY =St I AHMA 40,000 40,000 0
< 12,000
Al 28,000
307 21201 A 40,000 40,000 0
= 12,000
Al 28,000
04 DIZHHALALSE E X 40,000 40,000 0
oStz ISR HH
40,000,000 = 13l 40,000
< 12,000
Al 28,000
HEQUSHAE 12,830 12,830 0
307 21201 A 12,830 12,830 0
02 IAtFAAHEX 12,830 12,830 0
(OFSE=R:IR-1pr(f=: 12,830,000& * 13l 12,830
BF=-TECA JUHEAIZ 230snZF 15,000 10,000 5,000
307 21201 A 15,000 10,000 5,000
04 DIZHHALALSE E X 15,000 10,000 5,000
OFF-ZEcCIAl MHZ A 230=nR
15,000,000& * 13l 15,000
SHE HZ SN 40,000 40,000 0
= 12,000
Al 28,000




2AH: 25 0=
M 230 =dE
el ZStoll=HAL X (cho &)
SA-ZH () - HRAY - BES Ofl & oH %}E_i Hns2Z
307 glz2tol & 40,000 40,000 0
< 12,000
Al 28,000
04 DI2HHALALSE E X 40,000 40,000 0
ORE HEISFM 40,000,000& = 13l 40,000
< 12,000
Al 28,000
E=0=H 180,000 180,000 0
307 glz2+ol & 180,000 180,000 0
04 QIZFHALAIH B = 180,000 180,000 0
OFF0=H 180,000,000& * 13l 180,000
8t 23tz n{ At 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
oOttE2stzns 10,000,000& * 13l 10,000
ESSUS0==H FFA U3 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
O=E=USMesH EFAMUSUS
4,000,000& = 13l 4,000
B0z disoo 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIR B = 6,000 6,000 0
OF=0=! tl=e2 & 6,000,000& = 13l 6,000
A= A& 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OFFHolM=4a A& 4,000,000& = 13l 4,000
HdIANNSE2H 14,000 0 14,000
307 g1+l & 14,000 0 14,000
04 QIZFHALAIH E = 14,000 0 14,000
O d=ZAE BE2H 14,000,000& * 12l 14,000
SH=3d 24,225 24,225 0
307 21201 A 24,225 24,225 0
04 QIZFHALAIH B = 24,225 24,225 0
Ofx==3¢ 24,225,000& * 13l 24,225
HFIIA 7,650 7,650 0
307 21201 A 7,650 7,650 0




2N 230z
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DIZFSHALAIRI 2 = 7.650 7,650 0
OFE=IIH 7,650,000 * 13l 7,650
St g A3 3,500 3,500 0
307 glz2tol & 3,500 3,500 0
04 QIZFHALAIH B = 3,500 3,500 0
ostdsd AUz 3,500,000& = 13l 3,500
EFA S MSEISM 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 DIZHH A AL 2 X 7,000 7,000 0
O&HEFAISHHAS A 7,000,000& = 13l 7,000
22 Xl 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
oOLEN 2,000,000& = 13l 2,000
EFEAN ASEZA MY BEH 4,000 4,000 0
307 g1zl & 4,000 4,000 0
04 QIZFHALAIH 2 = 4,000 4,000 0
QHEFAASTZAIANETZS2A
4,000,000& = 13l 4,000
A 2,500 2,500 0
307 glz2tol & 2,500 2,500 0
04 DI2HHALALSE E X 2,500 2,500 0
OH2H 2,500,000& = 13l 2,500
2083 3@ HEH 2,400 2,400 0
307 glz2tol & 2,400 2,400 0
04 QIZFHALAIH E &= 2,400 2,400 0
OS08s HANEBH L 28X
2,400,000& =+ 13l 2,400
280 =FZH ¥ EES 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 DI2HHALALSE E X 4,000 4,000 0
CELTIRE - EN- - 1
4,000,000& = 13l 4,000
ARSI S NGt 2sHe g 8,500 8,500 0
307 21201 A 8,500 8,500 0
04 DIZFSHAIAI 2 = 8,500 8,500 0
OAI2IL &MNote 2o &
8,500,000& = 13l 8,500
Ex=0=8s sH 8,500 8,500 0




SN 250sn
M 25 0sxE
Sl 2oEBA XN (EH9l:®e)
SA-ZH () - HRAY - BES Off &4 %Ei Hnsz
307 212+0| ® 8,500 8,500 0
04 DIZFSHALAII 2 8,500 8,500 0
OHZE0DIzHs A 8,500,0002 * 13| 8,500
L2 #Hots = 8,500 8,500 0
307 212+0] ® 8,500 8,500 0
04 DIZLHALAFRI 2 & 8,500 8,500 0
OSSI M= =M 8,500,000 * 13| 8,500
HFHRL2HAUS 16,150 16, 150 0
307 212+0| ® 16,150 16, 150 0
04 DIZFEHALAFRI B & 16, 150 16, 150 0
OHZHMILEZMUS  16,150,0008 * 18| 16,150
YHZHZNUBR2HE 8,000 8,000 0
307 212+0| ® 8,000 8,000 0
04 DIZFEHALAFRI B X 8,000 8,000 0
OUHZHZNUZ2HAE 8,000,002 * 13| 8,000
YHZ HE S0HA 20,000 20,000 0
307 212+0| 20,000 20,000 0
04 DIZISHALAI 2 20,000 20,000 0
OYMZ MS S0#AL  20,000,0008 * 18| 20,000
OFEHF 2019 13,000 13,000 0
307 212+0| ® 13,000 13,000 0
04 DIZLHALAFRI 2 & 13,000 13,000 0
OOE & Z 2019 13,000,0002 * 13 13,000
IS USRI A (212) 5,500 5,500 0
307 212+0| ® 5,500 5,500 0
04 DIZLHALAFRI 2 & 5,500 5,500 0
O2H2ME DAL (H2H)
5,500,0002! * 13| 5,500
HEXX| MIRAYHH 8,500 8,500 0
307 212+0| ® 8,500 8,500 0
04 DIZLHALAFRI 2 & 8,500 8,500 0
OFZXN MIZRAMWKAE 8,500,008 + 18| 8,500
SH-0HAIO BH 23021 10,000 10,000 0
307 212t0| ® 10,000 10,000 0
04 DIZFEHALAFRI B X 10,000 10,000 0
OB-OtAIOI B H 28tz R 8
10,000,0008! * 13 10,000
HFS0 A 50,000 50,000 0




2x: 280z
HH: S3l=srE
oS4 2Su=HAMN XA
SA-EB B (BH) - MRAY - B 0 4t 04 il
307 212t01 & 50,000 50,000
04 QIZHSHAFAIE 2 X 50,000 50,000
O&F=2UF0 =AM 50,000,000& * 13| 50,000
D=8 JI&8d 3,600 3,600
307 212t01 & 3,600 3,600
04 QIZESHALAIE B2 X 3,600 3,600
oO0l=&ZJ/18H 3,600,000& * 13 3,600
o A2 4,000 4,000
307 QI2t0| ™ 4,000 4,000
04 QI2tSHALAIE E &= 4,000 4,000
on Ac=2¥™ 4,000,000& * 13 4,000
INENESE=FS PN 4,000 4,000
307 QI2t0| ™ 4,000 4,000
04 QIZ2HSHAFAIRE 2 X 4,000 4,000
OMEEEHAZ 4,000,000& * 13 4,000
AESAEINE 4,000 4,000
307 212t01 & 4,000 4,000
04 QIZHSHAFAIHE 2 X 4,000 4,000
OUESA2AHEINZ 4,000,000& * 13 4,000
SEHE 4,000 4,000
307 QI2t01 ™ 4,000 4,000
04 QI2FSHALAIE B = 4,000 4,000
OSE2HE 4,000,000& = 13| 4,000
A SHor2+dl 0l 5,000 5,000
307 QI2t0| ™ 5,000 5,000
04 QI2tSHALAIE E &= 5,000 5,000
Oggoatol 249 5,000,000& * 13 5,000
HEUZ350tY 4,000 4,000
307 212t01 & 4,000 4,000
04 DIZHSHAFAIRHE 2 X 4,000 4,000
OFFUEFIE0IY 4,000,000& * 13 4,000
&S HEH AL 4,000 4,000
307 212t01 & 4,000 4,000
04 QIZHSHAFAIE 2 X 4,000 4,000
OIS HH A 4,000,000& * 13 4,000
HF0F0=2U3 3,000 3,000
307 QI2t0| ™ 3,000 3,000




2N 230z
A BU=TE
el ZStoll=HAL X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DIZFSHALAIRI 2 = 3,000 3,000 0
OFFU=EM=2U3 3,000,000& = 13l 3,000
3652 HAIBL0l EXles 2stEAx=H 45,000 39,000 6,000
307 glz2tol & 45,000 39,000 6,000
04 QIZFHALAIH B = 45,000 39,000 6,000
O35 HASH0 X ST Al &4
45,000,000& 45,000
HFASSAE 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
OFFARSAS 30,000,000& * 13l 30,000
S=2EAYE US0=H Ot 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OS=EAUUE0M=M &0t
6,000,000& * 13l 6,000
S=2US0==d &t 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
Os=USsM==d It 6,000,000& = 13l 6,000
SSEA=H ot 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZFSHAIAIRI 2 = 4,000 4,000 0
O=s=d=H &It 4,000,000& = 13l 4,000
A== H &It 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 BIZHHAFAL I 2 X 3,000 3,000 0
O&=H=H &It 3,000,000& = 13l 3,000
=M &It 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 DI2HHALALSE E X 3,000 3,000 0
OXH=SEM EOt 3,000,000& = 13l 3,000
FAaEwerttt FI|H=F3] 3,000 3,000 0
307 glz2+ol & 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
CEPNEIET-gr Pl
3,000,000& = 13l 3,000
Jt=21t otelote & 3,000 3,000 0




2N 230z
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 3,000 3,000 0
04 DI2HHALALSE E X 3,000 3,000 0
©Jt=21t ot2lote & 3,000,000& = 13l 3,000
At 3| A 3,000 3,000 0
307 eIzl & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
O A 3| A 3,000,000& = 13l 3,000
PHNEE A 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
OR&ANEs 33N 3,000,000& = 13l 3,000
dFAEZZEU = 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 DIZHHALALSE E X 9,000 9,000 0
OdIAN=ZEHUS 9,000,000& = 13l 9,000
lrSss 32,000 28,800 3,200
307 glz2tol & 32,000 28,800 3,200
04 DI2HHALALSE E X 32,000 28,800 3,200
OJtsssl 32,000,000& * 13l 32,000
d= HAHE SAZ22 31,300 31,300 0
< 10,000
Al 21,300
307 glz2+0l & 31,300 31,300 0
< 10,000
Al 21,300
04 QIZFHALAIH B = 31,300 31,300 0
CHIFALEHSAZSZS 31,300,000& * 13l 31,300
< 10,000
Al 21,300
HHEsto=HA 21,380 21,380 0
307 21201 A 21,380 21,380 0
04 DIZFHALALSE E X 21,380 21,380 0
OHMEstd=H& 21,380,000& * 13l 21,380
s s 1= 13,000 13,000 0
307 glz2tol & 13,000 13,000 0
04 DI2HHALALSE E X 13,000 13,000 0
oOsd & 1 = 13,000,000& * 13l 13,000
AR EHots JtE38 <3l 51,000 51,000 0
307 glz2+ol & 51,000 51,000 0




2N 230z
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 51,000 51,000 0
OAl2I &MHdte JI238<23l
51,000,000& = 13l 51,000
SEHAEE 40,500 40,500 0
307 glz2tol & 40,500 40,500 0
04 DIZHHALALSE E X 40,500 40,500 0
OSEHAEIEH= 40,500,000& * 13l 40,500
EFESHIEXNE HASL3 80,000 80,000 0
307 glz2tol & 80,000 80,000 0
04 QIZFHALAIH E = 80,000 80,000 0
OBESH2&XE AXSAs
80,000,000& * 13l 80,000
2cllts 7 2HME 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
Oxclls FE 2MHME 10,000,000& * 13l 10,000
F=:0teld 243 AWE 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 QIZFHALAIH E = 12,000 12,000 0
OF=0tclg AF A3
12,000,000& * 13l 12,000
EF=SH2&X 280,000 280,000 0
307 glz2tol & 280,000 280,000 0
04 DI2HHALAISE E X 280,000 280,000 0
OFFSH2&X 280,000,000& * 13l 280,000
d=sE 2N 11,700 11,700 0
307 glz2t0l & 11,700 11,700 0
04 QIZFHALAIH B = 11,700 11,700 0
oOtsE 2sHHl 11,700,000& * 13l 11,700
HUHA EcIHA 36,000 40,000 24,000
307 21201 A 36,000 40,000 A 4,000
04 QIZFHALAIR 2 & 36,000 40,000 A 4,000
OATAHA EcCIHA 36,000,000& * 13l 36,000
= 832020 EFHUS 28,500 28,500 0
307 21201 A 28,500 28,500 0
04 DIZFSHAIAI 2 = 28,500 28,500 0
O&E=0gol &3S
28,500,000& = 13l 28,500
FEEFINMM =HHILH 9,000 10,000 A 1,000




AN 230 =n
M o= s
Hel: 2E0=SAMN XA (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Ei Hns2
307 21201 A 9,000 10,000 A 1,000
04 QIZHHALALH B £ 9,000 10,000 A 1,000
OFFAMOUIIAS S =& 9,000,000& = 13 9,000
FFHFHINE 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZHHALALE B = 3,000 3,000 0
OF0FHIt2H 3,000,000& =+ 13l 3,000
ZTuse R4 SAN 60,000 60,000 0
< 30,000
Al 30,000
307 glztol & 60,000 60,000 0
= 30,000
Al 30,000
04 QIZHSHALAIRH 2 & 60,000 60,000 0
OZWEE FESAM 60,000,000& = 13l 60,000
< 30,000
Al 30,000
®ME=0l 40,000 36,000 4,000
307 21201 & 40,000 36,000 4,000
04 QIZFHALAIH 2 = 40,000 36,000 4,000
ous=0l 40,000,000& = 13l 40,000
il AESY 22 9,000 10,000 A 1,000
307 21201 A 9,000 10,000 A 1,000
04 QIZHHALALH B £ 9,000 10,000 1,000
OFALH AESY = 9,000,000& = 13l 9,000
gtE MOl nJFH 9,000 9,000 0
307 glztol & 9,000 9,000 0
02 (It HAMAEE 9,000 9,000 0
G PAIIMESS! 9,000,000& =+ 13l 9,000
dS=23 ME0tE 4,500 4,500 0
307 glz2tol & 4,500 4,500 0
04 BIZHHALALH 2 & 4,500 0 4,500
OrsS=EaMEetore 4,500,000& = 12 4,500
FEEF ZESIIRDI 21,600 24,000 A2,400
307 21201 & 21,600 24,000 22,400
02 HAHFHANGEEE 21,600 24,000 22,400
OFEH= ZEZII2Il  21,600,000& = 13 21,600
SH 323 88,200 98,000 29,800
307 21201 A 88,200 98,000 29,800




2N 230z
A BU=TE
el ZStoll=HAL X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 88,200 98,000 A 9,800
osdsSsl 88,200,000& = 13l 88,200
NE sz 4,500 4,500 0
307 glz2tol & 4,500 4,500 0
02 HAHFHAANGFEX 4,500 4,500 0
oNs Had 4,500,000& = 13l 4,500
&= S ALA Y 3 4,500 4,500 0
307 21201 A 4,500 4,500 0
02 LAFLAFEX 4,500 4,500 0
Od IS MALAH T3 4,500,000& = 13l 4,500
FAMEEN 2AH L M A 49,500 49,500 0
307 gl2tol & 49,500 49,500 0
04 DIZFSHAIAIRI 2 = 49,500 49,500 0
OFAMH=N ZstH A 49,500,000& 49,500
dz 2= 0l=d 8,500 8,500 0
307 g1zl & 8,500 8,500 0
04 QIZFHALAIH 2 = 8,500 8,500 0
oFz A= 0l=sd 8,500,000& = 13l 8,500
sE=0E=3 Z&X 34,000 34,000 0
< 9,000
Al 25,000
307 21201 A 34,000 34,000 0
< 9,000
Al 25,000
02 YAFAAFEE 34,000 34,000 0
O=sZ=2=0tg=3 2 &I 34,000,000& * 13 34,000
< 9,000
Al 25,000
SEs23 16,200 18,000 A 1,800
307 21201 A 16,200 18,000 21,800
04 DIZHHALALSE E X 16,200 18,000 21,800
Os+=823 16,200,000& * 13l 16,200
= 2SS4 HoA 15,000 15,000 0
307 g1zl & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
o= S HUHA 15,000,000& * 13l 15,000
SHSHMOA 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0




M0 MO MO

stol=
stl=d s
Stol= A X1 &

= _ — d =
SA - BB B (BA) - MM - BHES e
OZSFSMMUUE 4,000,000& = 13l 4,000
=M 8Uol=A 20,000 20,000
< 6,000
Al 14,000
307 21201 A 20,000 20,000
< 6,000
Al 14,000
04 QIZFHALAIH B = 20,000 20,000
OF==2HEUil=d 20,000,000& = 13l 20,000
< 6,000
Al 14,000
NHZAZAIZE 28020 E 4,000 4,000
307 21201 A 4,000 4,000
04 DIZHHALALSE E X 4,000 4,000
OXMZAHAZAl 2t 2=z
4,000,000& = 13l 4,000
EFllznad2dy 8,500 8,500
307 glz2tol & 8,500 8,500
04 QIZFHALAIH B = 8,500 8,500
OFFNz=nERY 8,500,000& = 13l 8,500
2l g lots AES Y2 49,450 49,450
307 21201 A 49,450 49,450
04 DIZHHALALSE E X 49,450 49,450
OAI2IL Mot dESAS
49,450,000& = 13l 49,450
Ol 2sttlz=gs gy=3 48,000 48,000
307 21201 A 48,000 48,000
04 QIZFHALAIR B = 48,000 48,000
OO0l 2stll=gs &332
8,000,000& = 13l 48,000
a8 AANRS23HA 40,000 40,000
< 20,000
Al 20,000
307 21201 A 40,000 40,000
< 20,000
Al 20,000
04 QIZFHALAIH B = 40,000 40,000
ORI 7S=ZHA 40,000,000& = 13l 40,000
< 20,000
Al 20,000
ABY HSRMEZAHME 45,000 45,000
307 21201 A 45,000 45,000




2H: 230
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 45,000 45,000 0
OJNEBRY ST ZANE
45,000,000& = 13l 45,000
AME USRI 12,800 12,800 0
307 glz2tol & 12,800 12,800 0
04 DIZHHALALSE E X 12,800 12,800 0
OMELISAH IR X 12,800,000& « 13 12,800
E=2 4ESRE Fe-Story HAEIE 40,000 40,000 0
= 12,000
Al 28,000
307 glz2tol & 40,000 40,000 0
< 12,000
Al 28,000
04 QIZFHALAIH E = 40,000 40,000 0
OES4B2E 'Fe-Story' HAEY
40,000,000 =« 13l 40,000
< 12,000
Al 28,000
EFACL & I A 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 DI2HHALALSE E X 50,000 50,000 0
OFFAL & I8 At 50,000,000& = 13 50,000
S=2H3H K= 13,500 13,500 0
307 glz2tol & 13,500 13,500 0
04 QIZFHALAIH B = 13,500 13,500 0
Os=49=H =l 13,500,000& * 12l 13,500
E=Z0s A 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B & 8,000 8,000 0
OH==223 Eald 8,000,000& = 13l 8,000
HAF0BS FEJIE =523 50,000 50,000 0
< 25,000
Al 25,000
307 gl2tol & 50,000 50,000 0
< 25,000
Al 25,000
04 DIZHHALALSE E X 50,000 50,000 0
OH=EEZ RS A3 50,000,000 = 13l 50,000
< 25,000
Al 25,000
Ol2AIE Y Use HdEtE23H0=H 40,000 40,000 0
< 20,000




2H: 230
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 20,000
307 glz2tol & 40,000 40,000 0
< 20,000
Al 20,000
04 QIZFHALAIH E &= 40,000 40,000 0
O0IZAEY Uiz JE=Z30=M
40,000,000& = 13l 40,000
= 20,000
Al 20,000
FAE2sstn 29 16,000 16,000 0
307 glz2tol & 16,000 16,000 0
02 It M AMHEE 16,000 16,000 0
OFA~HZsIstn 29 16,000,000& * 13l 16,000
EEU MEEY HAEE 2019 280,000 280,000 0
< 140,000
Al 140,000
307 glz2+ol & 280,000 280,000 0
< 140,000
Al 140,000
04 QIZFHALAIH B = 280,000 280,000 0
OFIU MEEHY HAEE
280,000,000& = 13l 280,000
< 140,000
Al 140,000
AT SEHA 30,000 50,000 220,000
307 glz2tol & 30,000 50,000 A20,000
04 QIZFHALAIH E = 30,000 50,000 A20,000
OXX UM 30,000,000& * 13l 30,000
HESH 20,000 0 20,000
< 10,000
Al 10,000
307 21201 A 20,000 0 20,000
< 10,000
Al 10,000
04 QIZFHALAIH B = 20,000 0 20,000
OHSENM 20,000,000& = 13l 20,000
< 10,000
Al 10,000
ANeL25t0l=s X 7,000 8,000 A 1,000
201 £B-2d| 5,000 6,000 A 1,000
01 At 22l 5,000 6,000 A 1,000
OZstil=4&Z M= 10,0002 * 3000H 3,000
OZstol=el ZAIH M= 100,000& * 204 2,000




2H: 230
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
203 YR =&l 2,000 2,000 0
03 Al F=XH R =AH| 2,000 2,000 0
O2t0li=dA =& 2,000,000& 2,000
24E 20=A 124,200 124,200 0
201 L4l 7,200 7,200 0
01 At 22l 7,200 7,200 0
0= 82210 =#AHHI 7,200
OFQYERAE 20N MH
10,0008 * 80% 800
OANZEAE E0M M= 15,0008 * 60% 900
OMIMNBLAN BON HE
15,0002 * 80% 1,200
OANEUS EDM HMZE 15,000& * 60 900
OSAMSIAEIRARZS DM W
15,000& * 80% 23l 2,400
O (Sstis2Z=)
50,000& * 20% 1,000
203 YR =] 19,000 19,000 0
03 Al =AY R =& 19,000 19,000 0
ORIFMNES2ZE= 2 =SHA F&
9,000,000& 9,000
OXdEZstllgt 2= &2 =& 10,000,000& 10,000
307 gl2tol & 98,000 98,000 0
04 DIZHHALALSE E X 98,000 98,000 0
OAxZE 23tt=&A XA 98,000, 000& 98,000
Est0= A XA 652,925 650, 791 2,134
FF0E 249 N&E 101,891 96,491 5,400
307 glz2tol & 101,891 96,491 5,400
02 PIZHEMNAHE L 6,800 6,800 0
OF=0=A &2t 6,800,000& = 13l 6,800
03 A EE2IHIES 95,091 89,691 5,400
OF=0Z& 244l XA 95,091,000& 95,091
FF00E 29 NE 78,934 80,900 A 1,966
307 2201 A 78,934 80,900 A 1,966
02 IZtE S AHE L 28,750 30,000 A 1,250
OFS=AII2 WAl &2t 5,000,000& =+ 13l 5,000
O=SEg=aMEY 29 23,750,000 23,750
03 QIZtHNHE2HHEX 50,184 50,900 AT16
OF=THE 24l 50,184,000 50,184
EF2od 22 XA 242,200 240,000 2,200




2H: 230
A BU=TE
& 230 2H X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 242,200 240,000 2,200
02 PIZHEHAHEE 126,000 126,000 0
OF=ZstEN &2t 25,000,000& * 13l 25,000
OFF==2st=s0tel s4AH 80,000,000 80,000
oxgzstetn X& 6,000,000& =+ 13l 6,000
OFZASIS 918 DYAT WAZ FF
15,000,000& * 13/ 15,000
03 QIAHNHE2IHIEE 116,200 114,000 2,200
OH==2std 249Hl N 116,200, 000& 116,200
23y 29 226,500 230,000 A 3,500
307 21201 A 220,000 220,000 0
05 RIZtelEt = 220,000 220,000 0
OF=Z32d 29 110,000, 000& 110,000
Os4Y 32y 29 110,000, 000& 110,000
402 RIZ2EXt20l ™ 6,500 10,000 A 3,500
01 RIZE Xt 2 AL E = (REATH &) 6,500 10,000 A 3,500
O&S &3t & &d&Hl uH 6,500
OZoa HoAX wH 50,000& * 5004 2,500
OZ2os Holge uH 200,000& = 2004 4,000
=3 S XN 3,400 3,400 0
307 21201 A 3,400 3,400 0
02 IS AT EL 3,400 3,400 0
Ol=2%& Fdl XA 3,400,000& = 13l 3,400
L220HE 2EUH=XA 1,786,640 1,571,640 215,000
J| 1,264,880
< 104,352
Al 417,408
SE230ISHAL 1,786,640 1,571,640 215,000
J| 1,264,880
< 104,352
Al 417,408
307 glz2tol & 1,786,640 1,571,640 215,000
J| 1,264,880
< 104,352
Al 417,408
02 IZHEHAHE L 1,786,640 1,571,640 215,000
OsE230I2d A 1,786,640,000& 1,786,640
J| 1,264,880
< 104,352
Al 417,408
dS=23 BE L &85 7,317,226 6,232,411 1,084,815
= 2,373,385
=) 1,391,223




2A: 2302
Y HES 2Z U B
. 23 &2 (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 3,552,618
SN =22 5,761,028 4,946,073 814,955
- 2,154,649
= 1,279,749
Al 2,326,630
SXNE2SME+=EHHI ALY 1,101,400 975,120 126,280
= 550,700
Al 550,700
201 Bt 2,400 2,400 0
= 1,200
Al 1,200
01 At 22l bl 2,400 2,400 0
OS2 B+FUAMY HEINENEXE +
2,400,000& 2,400
= 1,200
Al 1,200
401 AIEHIZ 201 Y| 1,099,000 972,720 126,280
= 549,500
Al 549,500
01 Al& H| 1,095,040 966, 120 128,920
OYMEN A= B4 180,000,000& * 14 A 180,000
o= 90,000
Al 90,000
OWTE WA I L oy 22
40,000,000& = 100 A 40,000
o= 20,000
Al 20,000
OWMSII AT % U2, 28 24
200,000,000 = 10 A 200,000
o= 100,000
Al 100,000
OHPULCH B2 BHE U =By
100,000,000& * 10 A 100,000
o= 50,000
Al 50,000
O=Y3 MI} oady B4
130,000,000& * 14 A 130,000
o= 65,000
Al 65,000
OFFEN 8N EF L SoH0lLloh 2=
50,000,000& * 1JH A 50,000
o= 25,000
Al 25,000
OAge sSHY EX0HY 231,400,000& 231,400
== 115,700
Al 115,700
OSAME2HE BE&EXel 50,000,000& * 1JH A 50,000
& 25,000
Al 25,000




230l = ot
HE2S BE L S
Z3M 2&E2e

Z W

23,675

5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
CEEEFEEEEEEEEES
100,000,000& » 1JH A 100,000
& 50,000
Al 50,000
OXAE2SM 202 & JoES
13,640,000 13,640
& 6,820
Al 6,820
03 AlE 21| 3,960 6,600 N 2,640
O XAEE23M 22U AIY 204d|
3,960,000& 3,960
& 1,980
Al 1,980
=23 Al 387,000 253,130 133,870
401 AlEHIZL 2 0HY| 387,000 253,130 133,870
01 Al&H| 387,000 251,630 135,370
OSSN =8 =2 ¥ &Ci2el
200,000,000& 200,000
OSSN ALS B2 2 P4
100,000, 000 100,000
O2° 23X VPN & Xl 32,000,000 32,000
O22 23 MEXN FKESEAZLLH MIIHHAE WA
35,000,000 35,000
ORIBHY HUAME 20,000,000 20,000
SERMAE 4 454,880 434,680 20,200
201 et 9| 1,680 1,680 0
01 AFR 2t 2| bl 1,680 1,680 0
OBESRE 25985 49
0,000& * 6Y = 43| 1,680
401 Al HI L 2 0HHI 453,200 433,000 20,200
01 Al & H| 450,000 430,000 20,000
OSESA B2(130 SH L 1504 &)
400,000,000 400,000
OSESRAN OHLHE &X 1,500,000 * 200 A 30,000
oY HUOHM A 20,000,000 20,000
03 Al 20| 3,200 3,000 200
OA&E S0t 3,200,000& 3,200
S2X23M 2AIQ=E B X 94,698 95,467 ANT69
= 47,349
= 23,674
Al 23,675
307 2Iz2t0| & 94,698 95,467 AT769
47,349
23,674




2N
X ZH -
L= B

el

HO 2 MO
for ot
FD

A - "B (B) - HRAY - BES Ol &+ o4 SSa HlmE2
05 RIZHRI & 3 94,698 95,467 AT769
O=Zst M M BHIA XA 94,698,000& 94,698
- 47,349
< 23,674
Al 23,675
2NNNZ 2 SEFUAY 2,378,000 835,000 1,543,000
= 1,664,600
< 356,700
Al 356,700
207 A RO H| 650,000 0 650,000
= 455,000
< 97,500
Al 97,500
01 289 650,000 0 650,000
OF=s E4 dU E i A=A
100,000, 000& 100,000
= 70,000
< 15,000
Al 15,000
otlEel AX0faEL & AX0Le S
ZHIAHE =& 50,000,000& 50,000
= 35,000
< 7,500
Al 7,500
OHttel LEAE L2 XA & EHHI
500,000,000& 500,000
= 350,000
< 75,000
Al 75,000
308 XXl SRS 01 & 248,000 135,000 113,000
= 173,600
< 37,200
Al 37,200
103/ 2SHUEZAEEAIS I 248,000 135,000 113,000
OM H0I7Y S Mx, ME A2
135,000, 000& 135,000
= 94,500
< 20,250
Al 20,250
OZM 2XZ MAX ZLIHY At
80,000,000& 80,000
= 56,000
= 12,000
Al 12,000
OEM ZA Himg M 33,000, 000& 33,000
= 23,100
< 4,950
Al 4,950
402 RIZ2EX=20l A 200,000 600,000 A 400,000
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el

HO 2 [Ho

Off &t 24

=

i
2m

= Hn

140,000
30,000
30,000

200,000,000&

= N H

200,000
200,000

140,000
30,000
30,000

600,000

400,000

= HnH

,280,000

896,000
192,000
192,000

1,280,000

= Hn

,280,000
,280,000

896,000
192,000
192,000

1,280,000

2
=

INEEsM dH01E

o
T
4
0
=5
=
1%

= 0 W

18,000
12,600
2,700
2,700

18,000

401 AIEHIZ 2 I

= MW

18,000
12,600
2,700
2,700

18,000

01 A& HI

O&F= dHel 2uUR E=, I=
9,000,000&

9,000,000

= MW

= N H

18,000

,000
,300
,350
,350
,000
,300

,350
,350

—_ e O O = —a O ©

18,000

2T ALY

Al

34,550

17,275
17,275

254,550

A 220,000

N
2
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e«
M0
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[

Al

34,550

17,275
17,275

34,550

Pl
&=

ERIY!
H0
02 02

© o

Ho
ton
=
0g
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sl

el ¥ EWAIE |X2e

34,550,000

H

Al

34,550

34,550

17,275
17,275

34,550

H

Pl
0
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ol
=
0z
Of
oz
0
=
114

57,000
28,500

96,800

A 39,800




2N
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L= B

el

HO 2 MO
for ot
FD

Off &t 24

=

i
2m

Al

28,500

401 AIEHIZ 2 THHI

= M

57,000

28,500
28,500

96,800

A 39,800

01 A& Hl

o=zel 1t

OESAt MM AHAIA

03 Al S THHI
OAI& S|

YRS £

8 &X

28,500,000&

28,000,000&

500,000&

f

Al

H

Al

= M

56,500
28,500

14,250
14,250

28,000

14,000
14,000

500

500

250
250

96,800

A 40,300

500

SHNE2S M WAL

2=

=z N H

45,000
31,500
6,750
6,750

45,000

401 AIEBIZ 2 CHYI

= MW

45,000
31,500
6,750
6,750

45,000

01 A€ HI

ODn2cl08 cctv &ML ALY 45,000,000&

= MW

45,000

45,000
31,500
6,750
6,750

45,000

SINE 2 22483 L

YTHAIE 22

= N H

28,000
19,600
4,200
4,200

28,000

= N H

28,000
19,600
4,200
4,200

28,000

,Delne, ag

28,000,000&

= M W

28,000

28,000
19,600
4,200
4,200

28,000

=

29,000

14,500
14,500

29,000

307 21201 &

H

29,000
14,500

29,000




HO 2 MO
for ot
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SA-3H-HA(3AH) -

N2 A

01
o

=
i

2

Al

14,500

10
P}
T
1

10
P}
T
1

el
17,000,000&

el
12,000,000&

= H

H

Al

29,000

17,000

8,500
8,500

12,000

6,000
6,000

29,000

= M

143,400

71,700
71,700

143,400

2l

Al

143,400

71,700
71,700

143,400

143,400,000&

H

Al

143,400

143,400

71,700
71,700

143,400

Al

20,600

10,300
10,300

20,400

200

307 glztol &

H

Al

20,600

10,300
10,300

20,400

200

>

o
N
=l
v
o
0z

©
10
ogk
HO
tol

SHEAL K&

20,600,000&

= M

20,600

20,600

10,300
10,300

20,400

200

>
=
>

M2 ALY

= M H

32,500
13,000
9,750
9,750

60,000

A 27,500

307 21201 &

= N W

32,500
13,000
9,750
9,750

60,000

A 27,500

32,500,000&

= N W

32,500

32,500
13,000
9,750
9,750

60,000

A 27,500

0o
El
x>
{0
o
00
>

11

Rt

172,000

86,000
43,000

126,000

46,000
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537,402

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
43,000
307 glz2tol & 172,000 126,000 46,000
= 86,000
< 43,000
Al 43,000
04 QIZFHALAIH 2 = 172,000 126,000 46,000
OXFEHW(MER2 RUR3S Z5 II=20)
138,000, 000& 138,000
= 69,000
< 34,500
Al 34,500
OMEMA(HAN A2 ASE 2L
34,000, 000& 34,000
= 17,000
< 8,500
Al 8,500
=23t OFrd 560,000 400,000 160,000
= 280,000
< 140,000
Al 140,000
307 glz2tol & 560,000 0 560,000
= 280,000
< 140,000
Al 140,000
04 QIZFHALAIH 2 = 560,000 0 560,000
OF=0rd, &&el =Lt 560,000,000 560,000
= 280,000
< 140,000
Al 140,000
BratE s W T2 299 35,000 25,830 9,170
307 21201 A 35,000 25,830 9,170
02 YAFAAHEE 35,000 25,830 9,170
optdtss WE X273 2% 35,000,000 35,000
=42 LHIZA 100,000 0 100,000
207 51 OH &l 100,000 0 100,000
01 284 100,000 0 100,000
O=&E LHZA 100,000, 000& 100,000
D2 Z2HAY 70,000 0 70,000
207 O H] 70,000 0 70,000
01 2284 70,000 0 70,000
ONI8 LAY 70,000,000& 70,000
HdEME & 23AIE 22 794,112 581,654 212,458
= 171,736
= 84,974
Al
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HE2S BE L S
HSAHE & 23tAI4E 22l

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m
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441,700

401,400
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336,600,000& = 100
48,900,000 » 1JH 24
35,000,000& * 1JH A
21,200,000& = 10024

441,700
441,700
336,600
48,900
35,000
21,200

401,400

40,300

>
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>
L]
(il
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= N H

260,000
130,000

65,000
65,000

260,000

402 RIZ2tXt=01

= N H

260,000
130,000

65,000
65,000

260,000

= MW
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10
o
]
tol
=
>
4>
£
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= W

44,700
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OHIEA L2 SHIAMH (Y28

10,000, 000&

©
M
[0l
2
1
F_|
i)
=
i
e
0x

SHAL 14,700,000 &

= M W
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= N W

44,700
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 17,028
Al 11,928
201 24l 47,712 0 47,712
= 23,856
< 11,928
Al 11,928
02 =224l 47,712 0 47,712
OFSAZ YWAAE SXEH(HLA 2 708
2) 47,712,000 47,712
= 23,856
< 11,928
Al 11,928
HEZ3 AL XA 762,086 704,684 57,402
= 47,000
< 26,500
Al 688,586
2o 2822 486,086 453,184 32,902
101 14 Hl 201,332 168,936 32,396
04 JIZHHZ2XREES 201,332 168,936 32,396
ORA=HX H=HIA
66,8003 = 159 = 26 » 73 182,364
O23REA EZHH AR2Y JARES 18,968
O=8gd= 182,364,000& * 4.5% 8,207
OUZES 182,364,000& * 3.12% 5,690
OFILAEHE 5,690,000& * 7.38% 420
OMTHEH 182,364,000& * 1.05% 1,915
OCnE:Ed 182,364,000& * 1.5% 2,736
201 2et24d] 247,502 232,498 15,004
01 At 2teltl 97,390 98,390 A 1,000
OM&EMz 2 dl  1,000,000& * M * 23] 6,000
OZSRHA 22E3 14,760
O=23wHN MEEE & 22ES 728
1,500,000 = 40 A 6,000
OS2I &7 (75w)
20,000 * B0 = 400 A 4,800
OS2I &AL (50w)
6,000& = 4008 = 40 960
O=2sts&X EH=2I 15,000& * 2004 3,000
OFREZZE I=H| 120,000& = 8Y « 23] 1,920
O23M 2l CCTVEHl SABaHl(adad
g) 182,000,0002 = 8/100 14,560
oMM Xste BAAED
100,000& * 12& 1,200
O2M S22 HMH
2,500,000& * 38 * 4042 30,000
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AN 230 =n
b

B NESS 2E U M
& 823 AL XH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2FEX (AEQ 4HA)
1,560& = 104 » 100& * 5= 7,800
OZsts&X o2l
1,560& = 100£ * 100 15,600
O MHX 2EHOI S XIHI
1,560& » 1,200 1,872
O=ZstEX AL ZHI KA
8,000,000& * 504 40,000
OXNZEZaM LIHAAE S
475,000& ~ 123 5,700
206 M= Hl 4,500 4,500 0
01 M= 4l 4,500 4,500 0
O2}=HI 22lE 7Y
25,0003 = 50&Z * 23| 2,500
OFsts XA 228 Hz+2Y
10,0003 » 2& * 50%E « 23| 2,000
301 e Az 13,200 13,200 0
12 J|EtE 4= 13,200 13,200 0
O2MAZ 0l 243
5,000& * 8IHA » 202 * 128 9,600
ORIINMES FHLHITE BAZ(2MAA)
20,0003 = 29 = 43| » 123 1,920
OFHIIEE Lol 2H =Sl
70,0003 = 243] 1,680
308 MtXIEHSOIH 8,000 8,000 0
07 HIXNHMAR2E = 8,000 8,000 0
OFMESIZ = 80,000,000& = 10% 8,000
405 RHoHF S HI 11,552 26,050 A 14,498
01 AL EZFH S 11,552 26,050 A 14,498
otz4dd 7,252
O & 200,000& = 204 400
O Xt 50,000& = 104 500
OgAl 400,000& = 14 400
OMEIT 300,000& * 1K 300
OdALY "HE 2,652,000& = 14 2,652
O] 3,000,000& =« 1CH 3,000
©F| = RSEME =T, 4,300
Oz Fd 1,400,000 * 2CH 2,800
OOols = A 1,500,000& » 104 1,500
Ao S==Hl 1,000 1,000 0
307 21201 A 1,000 1,000 0
04 QIZFHALAIH B = 1,000 1,000 0
XCHE S=H A 1,000,000 * 13| 1,000




AN 230 =n
b

HH: HERs PE U S
el ME2d #A KR
SA - ZE-B(EA) - NRAY - B S il &t o il
A= AMUH 10,000 9,000
307 gl2tol & 10,000 9,000
04 DIZFSHAIAIRI 2 = 10,000 9,000
OF=EX=IIMESFSIN DA 5,000,000& = 23| 10,000
EFEsasd 4,000 4,000
307 glz2tol & 4,000 4,000
04 QIZFHALALH 2 = 4,000 4,000
OFF=A3HA 4,000,000 = 13l 4,000
g Jlzd 8,000 8,000
307 21201 A 8,000 8,000
04 QIZFHALAIH B = 8,000 8,000
OJ12d A} 8,000,000& = 13l 8,000
472 &3 Todd 2A 16,200 16,200
307 21201 A 16,200 16,200
02 AtFAAFE X 16,200 16,200
oo 2 16,200, 000& 16,200
Molgt=2 w4 13,500 13,500
307 gl2tol & 13,500 13,500
02 PIZHEHAHE L 13,500 13,500
OMOEHE w4 13,500, 000& 13,500
dH S E 16,200 16,200
307 glz2tol & 16,200 16,200
02 It M AHEE 16,200 16,200
oO&LHlEsHERI 16,200, 000& 16,200
Ssua 9,000 9,000
307 21201 A 9,000 9,000
02 QB LAANHEX 9,000 9,000
OZsua 29 9,000,000& 9,000
g3 8,100 8,100
307 21201 A 8,100 8,100
04 DIZHHALALSE E X 8,100 8,100
odg4d 8,100,000& = 13l 8,100
MU= witMd ME 3,000 3,000
307 gl2tol & 3,000 3,000
02 It M AHE X 3,000 3,000
OdtlU=E WM ME 3,000,000& 3,000
AOE d=ZHU 7,000 7,000
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o9 MS25 BA AR EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 7,000 7,000 0
04 DI2HHALALSE E X 7,000 7,000 0
OXNE d=ZHU3 7,000,000 = 13l 7,000
=ogw JzA 4,000 4,000 0
307 eIzl & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
o=29gw JzdA 4,000,000 = 13l 4,000
ety AMUH 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
04 QIZFHALAIH B = 6,000 5,000 1,000
O=2etn AN 3,000,000& = 23| 6,000
228 Eo8Y w2 H 4,000 4,000 0
307 21201 A 4,000 4,000 0
02 IZtE S AIHE L 4,000 4,000 0
o2osn ToMY Ao 4,000,000 4,000
A2 ST ZSHE A 27,000 27,000 0
307 glz2tol & 27,000 27,000 0
04 DI2HHALALSE E X 27,000 27,000 0
O=XHZSTa ZSHAAM 27,000,000& 27,000
CE43E uEid 15,000 15,000 0
< 3,000
Al 12,000
307 glz2+0l & 15,000 15,000 0
< 3,000
Al 12,000
02 HAFHAANHEEE 15,000 15,000 0
okads= W=sid 15,000
OFE=3=13m| 9,000,000& 9,000
< 1,800
Al 7,200
ozogn 6,000,000 6,000
< 1,200
Al 4,800
HSLUAIZ2S M 2 EAY 50,000 38,000 12,000
= 25,000
< 12,500
Al 12,500
307 21201 A 50,000 38,000 12,000
= 25,000
< 12,500
Al 12,500
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B NESS 2E U M
& 823 AL XH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 50,000 38,000 12,000
OZ3tAt 2EEAE AMIAME BUT
50,000,000& 50,000
= 25,000
< 12,500
Al 12,500
NHEZstRE DAY 44,000 44,000 0
= 22,000
< 11,000
Al 11,000
307 gl2tol & 44,000 44,000 0
= 22,000
< 11,000
Al 11,000
04 DIZHHALALSE E X 44,000 44,000 0
OSA &S2 010 A&2I2E HELS
44,000,000& 44,000
= 22,000
< 11,000
Al 11,000
B 22444 s=03 30,000 0 30,000
307 gl2tol & 30,000 0 30,000
02 IZtE M AHE L 30,000 0 30,000
OF= RBR4Y sS=3l 30,000, 000& 30,000
FaY 4 17,157,400 9,515,230 7,642,170
= 1,000,000
Xl 1,224,000
< 800,000
Al 14,133,400
FotE s 628,000 20,000 608,000
EFA 254 =2 552,000 0 552,000
201 ¢er24| 2,000 0 2,000
01 At 22l 2,000 0 2,000
OZAEZsAIY 22 & M2 2,000,000& 2,000
308 XXIEHHSOIA 550,000 0 550,000
10 SII 2 SOCHEHE & X 2 E A I 550,000 0 550,000
Oda=stad 43 FA 550,000,000 550,000
HFA HHA QS AHALS 76,000 0 76,000
307 21201 A 76,000 0 76,000
02 It S AHE L 76,000 0 76,000
Qdllln FF=MUHA ASAHALS
76,000,000& 76,000
F3IIB AlY &= 3,303,000 4,037,230 AT734,230




25 230z
M 2aE =4
Sl 2318 Al =S (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 1,000,000
Xl 324,000
& 300,000
Al 1,679,000
A2 BHE 2435 X 15,000 15,000 0
402 SI2FXHE0| M 15,000 15,000 0
01 SIZEXIEANYEXZ (MMM E) 15,000 15,000 0
OAARZ2AHZEH| (AMEHL)XH
15,000,000& 15,000
AACTHT], HASAIE SSTHMAISE (XH) 348,000 0 348,000
Xl 174,000
Al 174,000
401 AIEHI 2L 204 Y| 348,000 0 348,000
Xl 174,000
Al 174,000
01 Al&H| 348,000 0 348,000
O=s82&1D 37 cl2da Z2Al 348,000,000& 348,000
Xl 174,000
Al 174,000
ANEdetse 2HIxIAL|01e 29 XA 2,300,000 2,300,000 0
= 1,000,000
& 300,000
Al 1,000,000
308 XNXIGHSO0l& 2,300,000 2,300,000 0
= 1,000,000
& 300,000
Al 1,000,000
10 2| 2SHUSHE A XERAEASH] 2,300,000 2,300,000 0
OXYEI|Ety 23220 84
2,300,000,000& 2,300,000
= 1,000,000
& 300,000
Al 1,000,000
=30z EHE 243 340,000 322,230 17,770
308 XHXIEHMSOIA 340,000 300,000 40,000
10 21 2SS0 USHE A X AE AT Y| 340,000 300,000 40,000
OsS8eza1) 2HAY| (34, 365) 240,000,000 240,000
O=S8E&1D 29 AHI(3BSE) 100,000, 000& 100,000
AACT], HASAIE2STHAM AL (&) 300,000 0 300,000
Xl 150,000
Al 150,000
308 XX G SOl A 300,000 0 300,000
Xl 150,000
Al 150,000
10 212 SUHUSHEAEAE AL Y| 300,000 0 300,000




2H: 230
M BeaE 84
& 230IE AL =5 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Os= &1 373 2EU=AY 300,000, 000& 300,000
Xl 150,000
Al 150,000
EFFHESAYEI =48 & 29 4,309,800 3,809,500 500,300
EFEFHIAHHI 29 209,800 9,500 200,300
207 Ao 9,800 9,500 300
01 289 9,800 9,500 300
OHFASSMATNSTHE Y B
9,800,000& 9,800
401 A& HIZ 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OHX Mg AelHole w3 A
100,000,000& * 2CH 200,000
EFA2SIMSTINEHE EH3 4,100,000 3,800,000 300,000
306 ¢ 32 4,100,000 3,800,000 300,000
01 &3 4,100,000 3,800,000 300,000
OFFANZIUIUENLE =2AH3
4,100,000,000& 4,100,000
SH23ts4 8,916,600 1,066,500 7,850,100
Xl 900,000
< 500,000
Al 7,516,600
F=Z M0 A =2 4,500,000 300,000 4,200,000
Xl 900,000
< 500,000
Al 3,100,000
307 21201 A 4,500,000 300,000 4,200,000
Xl 900,000
< 500,000
Al 3,100,000
02 It S AIHE L 4,500,000 300,000 4,200,000
©2019 E=3odiag A =&
4,500,000,000& 4,500,000
X 900,000
< 500,000
Al 3,100,000
st=z02 =249 400,000 400,000 0
307 21201 A 400,000 400,000 0
05 BIZHRIE 3 400,000 400,000 0
OFEANSZZH A2 YA
400,000,000& 400,000
2022 24 4,000,000 0 4,000,000
401 AIEHI L 2 CHYI 4,000,000 0 4,000,000




25 230z
M 254 84
@2 SMEssd (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 3,984,000 0 3,984,000
(©OF=INI:] 3,984,000,000& 3,984,000
03 Al 24| 16,000 0 16,000
OA&E S0l 16,000,000& 16,000
SUADR HOATZAI(20) WERKZ It 16,600 68,500 A 51,900
201 gBt24y| 16,600 8,500 8,100
01 AP 22| H| 16,600 8,500 8,100
otz 100,000 = 2000 * 43l 8,000
(OF=-K=1 900,000& = 2% * 23| 3,600
O==E=2 M 5,000,000& 5,000
HESHAY (2350 =) 111,870 80,684 31,186
JlE&d| 111,870 80,684 31,186
Jl2 &4l 111,870 80,684 31,186
201 et | 43,640 41,300 2,340
01 AP 22| H| 43,640 41,300 2,340
oJlE2geLdist s AL (JI=Al)
500,000& = 22H 11,000
OSH|(JI=&Hl)
8,000& * 30Y * 8% = 12& 23,040
OLEH| (23HM) 60,0008 = 160 9,600
202 044l 46,080 29,184 16,896
01 2L I 46,080 29,184 16,896
©J|=Z&H|
20,000€ = 30 = 82 x 12&€ = 80% 46,080
203 SR F & 10,800 10,200 600
01 JI22HEYRFAH| 6,000 6,000 0
O©JI=H(42) 6,000,000 6,000
04 EANSIE LR F=XH| 4,800 4,200 600
©J| =M (300!10156t) 400,000& = 12&€ 4,800
405 XHA&HF S HI 11,350 0 11,350
01 XA 2 F S H| 11,350 0 11,350
OAIRE o XH(22lA}) 500,000 = 24 1,000
OMBE 9 XH(ARXH 300,000& * 274 8,100
o3& oKt 150,000& = 1504 2,250




——
N = 0] &F AF S & AN A
20008 &= 20l A Bt Y Stz ~ S22
254 M=2nx
M AN HE AE
oelr M2HS 84 X CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HNEWsI 18,983, 181 18,522,123 461,058
Dl 768,844
= 342,552
Al 17,871,785
AMSIHE &E 14,785,124 14,251,344 533,780
Jl 768,844
o= 342,552
Al 13,673,728
dEdE 84 I 10,690,324 10,095,679 594,645
o= 120,000
Al 10,570,324
HEME 4 29 2,074,752 2,000,615 74,137
201 et 9| 2,000 3,000 A 1,000
01 AP 2t 2] H| 2,000 3,000 A1,000
oY M=o ZEIH M 100,000 * 2074 2,000
203 SR F & 3,000 3,000 0
03 AIZH =& 2= X H| 3,000 3,000 0
O2Ax= HSHAIFA 3,000,000& 3,000
307 gizto| A 2,069,752 1,986,215 83,537
02 QIZ2IA AAIE B X 1,112,000 1,064,000 48,000
O&F=FC X& 300,000,000& = 13 300,000
OFFANM=E N3 MY 812,000
OBEAN 2464 SHEX
120,000,000& * 13l 120,000
OFBZFN 24BUS SLX
200,000,000& = 13| 200,000
OHZA SME4T Lo
10,000,000& = 13l 10,000
OFFXNNLERE X
17,000,000& = 13l 17,000
Os=z00H=sUlHs &4
320,000,000& = 13| 320,000
Od2HsUs =& 57,000,000& * 13l 57,000
Od=24+EH=sda &
30,000,000 * 13| 30,000
OX=2sAHM=UE s&8XS
8,000,000 = 13| 8,000
OMNH & &d=20U3 &sH
10,000,000 = 13| 10,000
OANZUHE SE0IcHEU 3 40,000
-M30&8 = XIAFDIXX DEOt2HEH S
18,500,000& = 13| 18,500
-H383 E=AIZ2UE dH0I2HEALS
21,500,000& * 13| 21,500
03 QIZIHEHAESIHIEX 957,752 922,215 35,537




EM MERS
g MME &S

GHe: M2Eds 84 AH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFHFANH=ERE AR=2 &9 957,752
(OPIE=3=| 488,205,000& 488,205
o= 154,892,000 154,892
OHZ2EE2S 116,852,000 116,852
Og =& 7,340,000& 7,340
O&XR=sHAH| 29,940,000 29,940
O=2WAHHY| 15,600,000 15,600
O™ AR EHH| 30,000,000 30,000
OSUSE=2XNEQE 14,010,000 14,010
O] 100,913,000 100,913
ATXE S8 NEEE 50,000 50,000 0
201 et Y| 50,000 50,000 0
01 AP 2t 2] H| 50,000 50,000 0
OAZXE S8t AIEEE 50,000,000 = 13| 50,000
HEF=ANED HR2UE 8,000 8,000 0]
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSHALALS B X 8,000 8,000 0
O N353 HE=AIZI U3
8,000,000 = 13| 8,000
HFEANEINXNXNESXNSEELSTDTESTWEU S 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSH APALS B = 8,000 8,000 0
OMZ273 EFANEIXIXN FKAIEF+SWETEE
w EHUH3 8,000,000& = 13| 8,000
HFEAZE S U3 10,000 10,000 0
307 gizto| A 10,000 10,000 0
04 CIZ2tSHALALSE B X 10,000 10,000 0
OHMI323 HE=AIZH 203
10,000,000 = 13| 10,000
HFEAED| AU S 15,000 15,000 0
307 2iz2to| & 15,000 15,000 0
04 QIZ2tSHAFAFS B X 15,000 15,000 0
OHM223 HFAEI| EHHEZUS
15,000,000& = 13| 15,000
HEANED AEUHEEZ2UE 18,000 20,000 A 2,000
307 2Iz2t0| & 18,000 20,000 A 2,000
04 SIZ2ISHALAISH E & 18,000 20,000 A 2,000
OHM213 H=AZIIXKN ZEHS=20U3
18,000,000& = 13 18,000
HEF=ANED 203 9,000 9,000 0
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X ZH -
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 9,000 9,000 0
04 DI2HHALALSE E X 9,000 9,000 0
ON178 HFAFHI 2=U
9,000,000& = 13l 9,000
EFAEI =2 U3 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OM178 HF=AEI =SU3
8,000,000& = 13l 8,000
EFANEI 23 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OHM16al EFAZEI 2ZUHSE
15,000,000& * 13 15,000
HFAED| HSUH 3 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OHM128 HFAEI| HISUs
12,000,000& * 13 12,000
EFANEI HAAZXF 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
OHM108 HFAEI| HAAZXHIIUS
15,000,000& = 13/ 15,000
EFAEI SEU3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHMB8al HEFAFI w3
8,000,000& = 13l 8,000
EFANEI LA OIS 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM53 HFAEI| MAXEAUSE
8,000,000& = 13l 8,000
E=AZHH B CH S 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B & 15,000 15,000 0
OXN6sl HFAIZH XU
15,000,000& * 13 15,000
EFANEINNEBELE=A TS 8,000 8,000 0
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307 2Iz2to| & 8,000 8,000 0
04 SIZ2ISHAAIH E & 8,000 8,000 0
OM21a EFANAEIIXNK d=EL=AHUHS
8,000,000& = 13 8,000
HF=ANEU F4AYE 072U 3 8,000 8,000 0
307 212t0| & 8,000 8,000 0
04 SIZ2ISHAAISHE E X 8,000 8,000 0
OHMb53 HFAZEE SAYE 02U 3
8,000,000& = 13 8,000
=29 M2 2 TS A 9,000 10,000 A 1,000
307 2I2t0| ™ 9,000 10,000 A 1,000
04 CIZ2tSHALALS B X 9,000 10,000 A 1,000
oO=E=2Y M2 U AIEHAUSE A
1,800,000 = 53] 9,000
NI AFAIS A 15,000 15,000 0
307 2I2+0 & 15,000 15,000 0
04 CIZ2tSHALALS B X 15,000 15,000 0
©2019 &3 AKX 8= AFA HAEEY
15,000,000 = 13| 15,000
AXNE =2 =.0.0f 3303 30,000 30,000 0
307 2iztol A 30,000 30,000 0
04 QIZ2tSHALALS B = 30,000 30,000 0
OM133 X 8= =5.0.00 303 s2US
30,000,000& * 13| 30,000
HIMHA) M= . H 2= 40,000 40,000 0
307 2iz2to| A 40,000 40,000 0
04 SIZ2ISHAAIH E & 40,000 40,000 0]
OHN 163 HIAMAMN) HI2LH 203
40,000,000 = 13| 40,000
3.1&8 H=E0I2tEU 3 18,000 18,000 0
307 2Iz2t0| & 18,000 18,000 0
04 SIZ2HSHAAISH E & 18,000 18,000 0
©3.18 &= Oi2tEUS 18,000,000 = 13| 18,000
&) AI2HUE A=A 80,000 80,000 0
307 2iz2to| & 80,000 80,000 0
04 QIZ2tSHAFAFS B X 80,000 80,000 0
O3 &I M98 M2HEHHL=AUS
80,000,000 * 13| 80,000
SI=MES 20 8=03 20,000 20,000 0
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307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
OM178 SH=HSR0 AU
20,000,000& = 13l 20,000
SBS Z2EE U3 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 DIZHHALALSE E X 70,000 70,000 0
©2019 SBS === s EFEN
70,000,000& = 13l 70,000
et At A MB ED| = ALE U E 60,000 0 60,000
307 21201 A 60,000 0 60,000
04 QIZFHALAIH B = 60,000 0 60,000
©2019 CHEHAL R A WS &I HIAZAT S
60,000,000 = 13l 60,000
S MANETUHE 2303 25,000 0 25,000
307 21201 A 25,000 0 25,000
04 QIZFHALAIH B = 25,000 0 25,000
O=t&dl M40 =AU 2=zUal
25,000,000 = 13l 25,000
FHES S0 UHstge WA 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 QIZFHALAIH E = 40,000 0 40,000
02019 =AHE= oS WA
40,000,000 =« 13l 40,000
EFAXNIHNHAAZ S A=A 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OM152 HXIH I HMHAAT=M=R 3
50,000,000& = 13l 50,000
FEI H=2REUS 240,000 240,000 0
< 120,000
Al 120,000
307 gl2tol & 240,000 240,000 0
< 120,000
Al 120,000
04 DIZHHALALSE E X 240,000 240,000 0
OHM123 HZEI d=217ZU3
240,000,000& * 13l 240,000
< 120,000
Al 120,000
AyEs JJIR =84 7,703,572 6,780,964 922,608
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2A: Msnxt
M ASHE &=
@2 ME2NE 84 N (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CEEEEEPEEREEEL
5,000,000& = 13| 5,000
206 M = Hl 267,450 267,450 0
01 & bl 267,450 267,450 0
OYX 428 =8EE L &bl 50,000
O3ta? 24 40,0008 * 25 = 50& 50,000
O2c=® =d¢d L ZIES 33,600
O223e 58 800,000& * 65 * 78 33,600
O0OZEER EHESE L &l 26,000
O=F&2 125 40,000& * 138 * 508 26,000
OHAFAER 24 ¢ HISE 21,600
OHAZ=E2 113 60,000& * 125 * 308 21,600
ONZEIOZR 28 L FIIES 6,250
OdIlste 45 25,0008 * 5& x 50& 6,250
O&O2 AIEE =& 2 ZH 20,000
OAER 95 40,0008 = 10 * 50 20,000
OXA=2E E8sE ¥ & 50,000
Ogtate 24 40,0008 = 25= * H0H 50,000
OLBANAR EEHES L EHl 60,000
OAELR] 295 40,000& = 30 * 50X 60,000
301 et A= 6,480,239 6,299,667 180,572
Vo= - 2SESEANZ 6,480,239 6,299,667 180,572
o2sE 4 (¢e) 3,755,700
oz=s 61,800,000& * 6™ 370,800
ozs 55,500,000& * 3™ 166,500
O=2ZX 52,500,000& * 4% 210,000
O=2X 48,300,000 * 24 96,600
OEdolyd 42,000,000& *~ 1H 42,000
O 65,100,000& * 4™ 260,400
OH = 55,200,000& * 5H 276,000
o= 45,900,000& = 10Y¥ 459,000
Oz 42,000,000 = 359 1,470,000
O = 33,300,000 * 4%H 133,200
Od % 49,200,000 * 2Y 98,400
O = 45,600,000 * 3H 136,800
OHIFYH% ERZI
500,000& * 64 = 12& 36,000
OXNES2SHIE EHNESZ 46,800
o= 300,000& *~ 9Y¥ * 12& 32,400
O=2X 150,000 * 8Y x 12& 14,400
o228 =&l 568,800
Oz=4Alt] 540,000& * 79¥ = 12&€ 511,920




SN HERSD
M MIHME AE
g4 d2Hs 84 XY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oo=s=dl 35,000& = 79%¥ = 12& 33,180
O2HAH| 25,000& = 7998 « 123 23,700
(OFSPNESR= ] 70,000& = 79% = 30¢ 165,900
oz =&t 60,000& = 79 * 102 * 6 284,400
oYazazg 1,000,000& » 30% * 103l 300,000
O=3JtE==Y 126,000
oz=s 500,000& = 69 = 12& 36,000
OoHd= 500,000& = 1298 « 128 72,000
O=2X 250,000& = 6H » 123 18,000
Of=z=6== g AHAZ  180,000,000& * 13 180,000
OdE2E=z S 20,000& = 798 « 123 18,960
OoflA&MX=& L MAUE FOt
30,000,000& * 43| 120,000
OXNF2SIIR AFE=NME 29
1,000& = 900P * 79&H 71,100
OXF2SZEIIF NXEH 2ES 703,579
OEHAHAZ 3,755,700,000& = 1/12 312,975
OHL=EE 3,755,700,000& * 3.12% 117,178
OFIAEE 117,178,000& * 7.38% 8,648
O=0H3RE3 3,755,700,000& * 4.5% 169,007
OCnEEEERY3  3,755,700,000& * 1.5% 56,336
O EAEE =
3,755,700,000& * 1.05% 39,435
Ogie=F Il=Hl 14,000
Oogst=s2 9& 200,000 = 108 » 7 14,000
O=sa2 2¢d 2 HIIES 22,000
Og=s=52 58 200,000& * 6& = 11 13,200
ObtetEste 73 100,000& * 88 = 11H 8,800
OEe= Il=Hl 11,200
Ogst=Ee 783 200,000& = 88 = 7H 11,200
OdE=® Il=Y| 15,400
Ogst=2 63 200,000& * 78 » 11H 15,400
OHAZ=S H=Hl 16,000
ogsts2 78 200,000& * 8& = 10 16,000
ONZEZZ=R 1=l 9,600
Og=ss2 78 200,000& * 8& = 69 9,600
OFMAIAE Il=Hl 12,800
OAA=Z2 78 200,000& = 8& = 8YH 12,800
OWIL=ZF W=HI 14,000
Ogst=2e 95 200,000& = 103 » 7H 14,000
OLEHAIA & Tl =l 24,000
OMNB=ESR 93 200,000& = 108 » 129 24,000
405 RHoHE S HI 29,850 61,070 A 31,220




254 M=2nx
M AN HE AE
GHe: M2Eds 84 AH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AL 2 ZF S| 29,850 61,070 N 31,220
OFAAS(HMHUAZEE) 6,800,000 = 1& 6,800
O3IAAZ (LEAIHEER) 7,700,000& * 1& 7,700
ONFRSSHIL =4 WHAEI| 2Y
1,500,000 * 10CH 15,000
ONZ2EAIE =4 HIge 2
350,000 = 1CH 350
406 JIEFAF2 0] & 750,000 0 750,000
01 JIEFRF=201 A 750,000 0 750,000
OXNE2SHIIE =4 NEMI (AHAE<E >
- E2HE MA2) 250,000,000& = 3JH A~ 750,000
S HE 4 XA 1,135,004 1,309,405 N 174,401
Jl 90,960
o 136,384
Al 907,660
0o M= 243t 605,084 546,365 58,719
307 QI2t0| ™ 600,684 541,249 59,435
02 DIZHEAAIE E X 217,740 191,268 26,472
OXMUMEAN=ESE 22N 41,000,000 41,000
OHOMR E=3WA 24  25,000,000& = 100 A 25,000
OHM133 M=Z2HHSMHSUHE &
7,000,000 = 13| 7,000
OHM11g =g MsUs &2H
5,000,000 = 13| 5,000
O==2=s0tol stotsdslHa =d
5,000,000 = 13| 5,000
OHM39s M=ZHOHOM=EUHE &2
25,000,000 * 13| 25,000
OHM133 ==& AZ2AH=EUHE &8
30,000,000 = 13| 30,000
O&=U3 =II =&H XN&
10,000,000 = 13| 10,000
0Z2g 258 A28 X8
15,000,000& *~ 1HIE 15,000
OB Sass FHXH
500,000® ~ 6 = H& 15,000
OHMAUBXIOIES AlE AIE2E K&
1,260,000& * 100 A 1,260
OXNMHQMEHESXN A HdRIMEAIS (BSEX
H, MY, A+ S) 38,480
OFZ2x==(H23]) 2,236,000 2,236
o254 100,000& * 5¥ = 128 6,000
OdHZAHI 130,000 * 5¥ = 128 7,800
O™ ESIHYI 200,000& * 5% * 23| 2,000
OA 2t =&
8,350& * 5 x 15A2t + 12& 7,515




AN HELSH
M MIHE &

MY E sS4 N

o mg)
- _ _ RE]
SA BB (SH) - NRAY - B %Ei 2t
OH XS AHH| 78,460 x 3 x 5¥ 1,177
O ¥t 70,000& x 5% = 128 4,200
O=2WNHY| 20,000 = 5% x 10¢ 1,000
o4Eg s 6,552,000 6,552
03 DIZE P AESHHIEX 382,944 349,981 32,963
OFFA HOMoN=Es 249 382,944
(OPIE=3=| 213,507,370& 213,508
(OE= 34,642 ,540& 34,643
O=c|=MH| 97,984,050 97,985
OYUSEEXNEQAE 6,650,000 6,650
OJ| 2L RF=XH| 2,400,000& 2,400
OS2 AHH| 3,600,000& 3,600
O Hl 7,200,000& 7,200
O3 &l 1,680,000 1,680
oA 15,278,000 15,278
402 SI2vXHE0| & 4,400 5,116 ANT16
01 BIZtXIEAY S X (KM THK) 4,400 5,116 ANT16
OXUMOAUM=EE AMRE= 2ZFHY 4,400
OMNRE A 250,000 = 24 500
OMEES 2AX 200,000 = 24 400
OIEl & 750,0008 » 2N E 1,500
O#AIE EX 100,000 = 2004 2,000
HEANAD HOHQOIIA=Z03 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSHAPALS B X 8,000 8,000 0
OHMb53 HFAIEDI HOMOIIASZMZ
8,000,000 = 13| 8,000
HE=ANED HOHQ MEXNs E2US 8,000 8,000 0
307 giztol A 8,000 8,000 0
04 QIZ2tSHALALS B = 8,000 8,000 0
OM108 HFAIED| i MEXNSF SRS
8,000,000 = 13| 8,000
HFEAZD| O MEH=E E=UHI 8,000 8,000 0
307 2iz2to| & 8,000 8,000 0
04 SIZ2ISHAAIHE E & 8,000 8,000 0
OHM11a HFAEDI i MEXNE 2=U3I
8,000,000& = 13| 8,000
HF=ANEI HOHIFZUS 12,000 12,000 0
307 2Iz2t0| A 12,000 12,000 0
04 SIZ2HSHAAISH E & 12,000 12,000 0




2N
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L= B

el
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Hsws
AIHE &S
A= 54 N2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OM93 HFEAIZADI ZHOHQ =303
12,000,000& = 13 12,000
HE=ANEI HOHQAHOIE=S U 12,000 12,000 0
307 2Iz2t0| A 12,000 12,000 0
04 QIZFH AL AR 2 & 12,000 12,000 0
OHM73 HEFAIEI &HO2 HOE=US
12,000,000& = 13 12,000
HEF=ANAEDI s01e =83 6,000 6,000 0]
307 212t0| & 6,000 6,000 0
04 DIZFSHALAIRI B X 6,000 6,000 0
OHM43 HZAIZEDI =010 =13
6,000,000 = 13| 6,000
XX E2FH0HRIBHECISH =AU 3 22,000 22,000 0
307 QI2t0| & 22,000 22,000 0
04 CIZ2tSHAPALS B = 22,000 22,000 0
OHM10a AXHl A= ZO0HQ HIEQEH Hd4=3A
CHal 22,000,000 = 13 22,000
XX =20 2203 22,000 22,000 0
307 gizto| A 22,000 22,000 0
04 CIZ2tSHALALS B = 22,000 22,000 0
OHM93l EXIH d=2&02=U3
22,000,000& * 13 22,000
MNAU M2 EMAHEA A=A S 15,000 15,000 0
307 2iz2tol & 15,000 15,000 0
04 QIZ2tSHAFALS B X 15,000 15,000 0
OHMB8al EXIHI M=2EHAHHA H=AHS
15,000,000& = 13| 15,000
X0 & =2F0HAAFHEH S 20,000 0 20,000
307 2Iz2t0| & 20,000 0 20,000
04 QIZFH AL AR 2 & 20,000 0 20,000
OHMI13 X H=2Z0H AT
20,000,000& * 13| 20,000
MNX 8= NEEHOHS =.0.98 3:3 s72UF 15,000 16,000 A 1,000
307 212t0| ™ 15,000 16,000 A 1,000
04 SIZ2ISHAAISHE E X 15,000 16,000 A 1,000
OM33 ZXXEH 8=2XNHHOHC L ZDLEE 3
3 s72Ua 15,000,000 = 13| 15,000
ZONQIMEH S K = AF BHXI 181,920 134,040 47,880
J| 90,960
=} 36,384
Al 54,576




AN HELSH
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M MIHME AE
?2: ZeHE 84 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 181,920 134,040 47,880
J| 90,960
< 36,384
Al 54,576
02 P HAMHEE 181,920 47,880
OXFOHAMEN X=X B X
45,480,000& * 43| 181,920
J| 90,960
= 36,384
Al 54,576
2019IWASE =M HE MO Bl Al d =2 12 200,000 200,000
< 100,000
Al 100,000
307 gl2tol & 200,000 200,000
< 100,000
Al 100,000
04 DIZHHALALSE E X 200,000 200,000
O2019IWASE F NI HE MO B A M =2 TH3
200,000,000& * 13l 200,000
< 100,000
Al 100,000
HEH=s 243 ,959,796 113,536
J| 677,884
< 86,168
Al , 195,744
EXH™MAMY X 481,120 28,380
J| 336,784
< 72,168
Al 72,168
301 LAz 481,120 28,380
J| 336,784
< 72,168
Al 72,168
01 MI2ZE 6= 481,120 28,380
oArzZ=2% 084 XA
120,280,000& * 43| 481,120
J| 336,784
< 72,168
Al 72,168
BHE LR )M E R = X & XX 398,832 50,328
J| 191,016
< 5,040
Al 202,776
307 21201 A 398,832 50,328
J| 191,016
< 5,040
Al 202,776




254 M=2nx
M AN HE AE
e MEHs 243 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 398,832 348,504 50,328
OLetME NS K = XHEE Xl 99,708,000 = 43| 398,832
J| 191,016
o= 5,040
Al 202,776
HEAXAM ME M=K <= XHBH X 313,368 268,080 45,288
J| 150,084
= 3,960
Al 159,324
307 QI2t0| ™ 313,368 268,080 45,288
J| 150,084
= 3,960
Al 159,324
02 QI2tAAMAIE E =X 313,368 268,080 45,288
osaMEM =X & Xl X
78,342,000& * 43| 313,368
J| 150,084
= 3,960
Al 159,324
AN2ME M =X X X 28,500 27,936 564
307 QI2t0| & 28,500 27,936 564
02 Q2B AMAIE E =X 28,500 27,936 564
OFFTANMEBHSXSKHHHX (HH)
7,125,000 = 43| 28,500
MEHE 4 XS 337,976 329,000 8,976
307 2izto| A 337,976 329,000 8,976
02 QIZ2IA AAIE E X 337,976 329,000 8,976
OM293 E&sT MEHNsSUHs =M
85,000,000 = 13| 85,000
©2019 SE=S XA ¥ T8I ) MEAS
=248 Ug sd 30,000,000 30,000
©2019 MENE =2¢ d=2Ug &4
10,000,000& 10,000
©2019 & MENU3 X 5,000,000 5,000
ON143 EHEET 2K ME=sUHa s
20,000,000& * 13l 20,000
©2019 EFAIJ2SEZSTHIIE AMEE A
3,000,000& 3,000
OM20s EHEET M3 & 2UHR2HE =2
s A 4,000,000 = 13| 4,000
02019 ==SMNESHLUE &N
8,000,000 = 13| 8,000
©2019 MENSX X (25H) MM AL (A
249, AIAY, B S)
169,976,000 169,976
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CHSELNSY
HAIHE TS
? MEHs 243

5 . 4
HE .G (3H) - HEAY - B %@i
©2019 EFANMES ALA FAS
3,000,000& = 13 3,000
MET = AIALASE ALY 443,000 443,000
307 2Iz2t0| A 443,000 443,000
02 QI AAIRE E X 443,000 443,000
O=0HME100 Ex=HESHEH 2
50,000,000 50,000
©2019 MEH WA 29 360,000,000& 360,000
OMEHEWA 525 WA 12,000,000& 12,000
©2019 HElOIMl s 249 6,000,000& 6,000
OWwE = SHAE ATX DY 29
15,000,000 15,000
MEH S ALK R 90,000 90,000
307 2iz2tol & 90,000 90,000
04 SIZ2HSHAALSH E & 90,000 90,000
OM= AKX 10,000,000& = 93| 90,000
HEANAHES XD MEHNET S3E8UHE XAH 45,000 45,000
307 giztol A 45,000 45,000
04 DIZ2tSHALALS B X 45,000 45,000
OXFAEESE) MEHNESES=2YE 43l (308])
45,000,000 45,000
HEANED MEHE 20U 12,000 12,000
307 2iz2to| & 12,000 12,000
04 QIZ2tSHAFAFS B X 12,000 12,000
OHMBa EFAHI MEHM=E S2UI
12,000,000& = 13 12,000
HE=ANEI MEHF HOE=ZU S 6,000 6,000
307 2Iz2t0| & 6,000 6,000
04 SIZ2SHAAISH E & 6,000 6,000
OHMb53 HFAIXI MEHE HOE=:US
6,000,000& = 13 6,000
HEFANAED MEHNS SERUS 10,000 10,000
307 212t0| & 10,000 10,000
04 CIZ2tSHALALS B X 10,000 10,000
OM63 HFAIXD MESHF ESEF2UI
10,000,000& = 13 10,000
HF=ANED MEHS SIS 6,000 6,000
307 QI2t0| ™ 6,000 6,000
04 CIZ2tSHALALS B X 6,000 6,000
OM63 HFAIEI MEHF SIIZUI
6,000,000& = 13| 6,000
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CHSELNSY
HAIHE TS
? MEHs 243

E - G2 (3H) - NRAY - BAES Hl D&
FFANEI dEHS oF2UH A 10,000 ,000 0
307 gl2tol & 10,000 ,000 0
04 DI2ZHHALALSE E X 10,000 ,000 0
OHN6sl HFAIZEI| MEHE OFAUE
10,000,000& = 1=l 10,000
FFANFI MEHs S2U3E 8,000 ,000 0
307 glztol & 8,000 ,000 0
04 DIZHHALALSE E X 8,000 ,000 0
OHMb5sl HFAIEI MEHME SFAUE
8,000,000& = 12 8,000
FFANEI dEHs Jt2E=Z0U3 8,000 ,000 0
307 glztol & 8,000 ,000 0
04 QIZFHALAIH B = 8,000 ,000 0
OHMb52 HF=AEI daH=s dct2==Zis
8,000,000& = 13l 8,000
BFANEI M| &= WA=cH0ldU 2 6,000 ,000 A2,000
307 glz2+ol & 6,000 ,000 A2,000
04 QIZFHALAIH E = 6,000 ,000 A 2,000
OHN62 HFF=AE) d2Hs &=Hd=2H01E
tHal 6,000,000& =+ 13l 6,000
EFANEI MEH=S HLALE 9,000 ,000 0
307 glz2tol & 9,000 ,000 0
04 DI2HHALAISE E X 9,000 ,000 0
ORMb52 HEFAFEI HEMS HUAUE
9,000,000& = 13l 9,000
EFAED HEHsE S4U3 8,000 ,000 0
307 21201 & 8,000 ,000 0
04 DIZHHALALSE E X 8,000 ,000 0
OM4sl HFAZEI| MEHE SAUE
8,000,000& = 13l 8,000
FFANFI MEBH=E BHELUEUS 15,000 ,000 0
307 21201 A 15,000 ,000 0
04 DIZHHALALSE E X 15,000 ,000 0
OHM62 HF=AMEI H&H= BHELEU
15,000,000& = 1=l 15,000
FFANFI MEHs =703 6,000 ,000 0
307 glztol & 6,000 ,000 0
04 QIZFHALAIH B & 6,000 ,000 0
OMb5sl EFAEI MEHMSE s7UE
6,000,000& = 13l 6,000




EM MERS
g MME &S
A

Ee: MEHs 245t (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EFAEH MEMS 0IAHE=ELHE 7,000 7,000 0

307 gl2tol & 7,000 7,000 0
04 DI2ZHHALALSE E X 7,000 7,000 0
OHN6sl HFAZE HEMS DI*EP(*’C’S%*EH
3 7,000,000& = 13l 7,000
FFATH MEHE (I8HUATE 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
ON6sl HFAIZH MEHME HEHLIAUE
6,000,000& = 13l 6,000
EFANZTH MEXHs P03 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OXN6sl HFAIZH MEHE U2
6,000,000& * 13l 6,000
EFA MEH=SHSE 85,500 95,000 A 9,500
307 glz2+ol & 85,500 95,000 A 9,500
04 QIZFHALAIH E = 85,500 95,000 A 9,500
OXN6sl HF=Al dEMSUH
85,500,000& * 13l 85,500
EFA MEHSHAZE SHOHE =M 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DI2HHALAISE E X 8,000 8,000 0
OM62l HFA HEMSUMOZY SO =H
8,000,000& = 13l 8,000
2019 E== S4 2&X JIE EF= NEH dLUg 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
Q2019 &= S48 28X I8 ExF MNEZ &
23l 15,000,000& * 13l 15,000
HBF=A1-2ld 41,000 41,000 0
307 21201 A 41,000 41,000 0
04 DIZHHALALSE E X 41,000 41,000 0
©2019 H=Al 1-211(638l) 41,000,000& 41,000
MEXSE FEFAQ AZ2ZIHHE 25,000 25,000 0
307 gl2tol & 25,000 25,000 0
04 DIZHHALALSE E X 25,000 25,000 0
©2019 MM s F=AC 222IU3E
25,000,000& = 13l 25,000




M MEHS
I MBS

=

LI

mw ™
0 0loh

st

(o
SN ED B (3H) - MEAY - BAS %Eﬁ HD=2
E=EZH (& A 10,000 10,000 0
== 5,000
Al 5,000
307 2Iz2t0| A 10,000 10,000 0
o= 5,000
Al 5,000
04 SIZ2HSHAAISH E & 10,000 10,000 0
©2019 E=5H UH&EH 10,000,000& = 13| 10,000
& 5,000
Al 5,000
H208 EH=ET M3 A 2UHRHSI0IE=22UE K 12,000 0 12,000
S|
307 212t0| & 12,000 0 12,000
04 SIZ2HSHAAISH E & 12,000 0 12,000
OHM203 =H=2CHSEH 2LRH201=2
CHEl JH= 12,000,000 = 13 12,000
M, HAMEAY I0MEHT M2 AAEU 15,000 15,000 0
307 2I2t0| & 15,000 15,000 0
04 CIZ2tSHALALS B X 15,000 15,000 0]
OHM163 &AX , FJMIMN) Z0MEHs &=
A2 TH 3] 15,000,000 = 13| 15,000
AR EHSAMAAMY M2 3E 45,000 40,000 5,000
307 &l | & 45,000 40,000 5,000
04 CIZ2tSHALALS B = 45,000 40,000 5,000
OHM10a AX , HJAMAMY M=2Z=Z03F
45,000,000& * 13l 45,000
A EHSJAMAMY QF MEHHSF SIS 22,500 25,000 A 2,500
307 2izto| A 22,500 25,000 A 2,500
04 CIZ2tSHALALS B 22,500 25,000 A 2,500
OMb53 2K , HAMHAAG QF MEIR BHE
OIS 3 22,500,000 = 13| 22,500
MR HIAMAAG M= Ol=HLULAWE 10,000 10,000 0
307 2Iz2to| & 10,000 10,000 0
04 CIZ2ISHAAISH E & 10,000 10,000 0
OM63 2K , HIAMHAAMG MI20|=HLI AN
10,000,000& = 13l 10,000
MR HIAMAAMG MEHs M=2HLULALS 27,000 30,000 23,000
307 2Iz2t0| A 27,000 30,000 A 3,000
04 SIZ2HSHAAISH E & 27,000 30,000 A 3,000
©2019 Z X , HAMAMYY MBS H=2H LA
CH &l 27,000,000& * 13| 27,000
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H=sus
ABIHIE & &
A

d42Hs 243

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FMIH HESOetEME 240,000 240,000 0
307 gl2tol & 240,000 240,000 0
04 DI2ZHHALALSE E X 240,000 240,000 0
OM17a FHMAN HESOIHEWS
240,000,000& * 12l 240,000
HARAE S92 HAEE 28,000 28,000 0
307 21201 A 28,000 28,000 0
04 DIZHHALALSE E X 28,000 28,000 0
©2019 HXALY S /2 HAEE
28,000,000& = 13l 28,000
X A Z A 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
OHM6sl XX d==ZaUz2
40,000,000& = 13l 40,000
AT A== 35,000 35,000 0
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401 AIEBIZ 28I ,000,000 0 ,000,000
X 900,000
< ,050,000
Al 1,050,000
01 A& Bl 2,890,000 0 ,890,000
OU=dEMsE3ATLAY  2,890,000,000 2,890,000
Xl 867,000
< 1,011,500
Al ,011,500
02 Zeltl 100,000 0 100,000
OU=dEN=SIAXZLEAY 100,000, 000& 100,000
Xl 30,000
< 35,000
Al 35,000
03 Al 2 THHI 10,000 0 10,000
OUH=MEXNSISAZLAY 10,000, 000& 10,000
Xl 3,000
< 3,500
Al 3,500
=0t & ZHAS 600,000 0 600,000
401 Al& Bl 28I 600,000 0 600,000
01 A& HI 600,000 0 600,000
OU=0t7& ZHAE 600,000
(OFSPNR=; =] 600,000, 000& 600,000
S U=2MsS2 HdE M 6,000,000 0 6,000,000
J| 2,000,000




M= A4 D
CHEAE JlgE &

0x

D MBUSY IJUSAL 25 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
== 2,000,000
Al 2,000,000
401 Al& Bl 28I 6,000,000 6,000,000
| 2,000,000
= 2,000,000
Al 2,000,000
01 A& HI 5,390,000 5,390,000
02 UM A ALY
5,390,000, 000& 5,390,000
| 1,795,000
< 1,795,000
Al 1,800,000
02 Zeltl 600,000 600,000
os U=dA=sa A 22l dl
600,000,000& 600,000
| 200,000
< 200,000
Al 200,000
03 A& =2 THHI 10,000 10,000
oOs U=3HNsS2 AE A& 20|
10,000, 000& 10,000
| 5,000
< 5,000
I2 IUMSHH A A 8,300,000 8,300,000
| 300,000
< 3,000,000
Al 5,000,000
401 Al& B2 2B 8,300,000 8,300,000
| 300,000
< 3,000,000
Al 5,000,000
01 A& HI 7,274,000 7,274,000
O0Z2 2eUN=sdH A 7,274,000
O3 Atd| 5,274,000, 000& 5,274,000
| 300,000
= 2,487,000
Al 2,487,000
O&EXIDH bl 2,000,000, 000& 2,000,000
02 Zteltl 1,000,000 1,000,000
0Z2 2eN=sdH A 22l dl
1,000,000, 000& 1,000,000
< 500,000
Al 500,000
03 Al 20 HI 26,000 26,000
O0Z2 2CUN=sdH A =Rl
26,000,000 26,000
< 13,000
Al 13,000




2AH: A

ENEE
M FD+F2 MSAE 22
thel: SEFQ MsAE X (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FD+=ZF2 MSAE 22 5,344,405 4,542,988 801,417
= 870,000
< 1,015,000
Al 3,459,405
=S40 MEAE X 1,213,695 1,410,142 A 196,447
HEAL AS29H & 1,213,695 798,038 415,657
307 21201 A 1,198,762 754,043 444,719
05 BIZIRI & 3 1,198,762 754,043 444,719
OU==2CXMsSHdEH E2ZHl 634,917,000 634,917
OFMHAAZ=HE X 2055 28 /AER
Sl 190,000, 000& 190,000
OFERCIZ L LEZRCIB ALY
194,419,000& 194,419
OF=ZFZ AE29H| 179,426,000 179,426
405 TtHabF S| 14,933 43,995 A 29,062
01 AL EFHSHI 14,933 43,995 A 29,062
OFMUAEZ=ME Y 2USE 22HE HISH
e 11,133
OE =M 1,110,000& * 6CH 6,660
OEFHA 1,760,000& * 1CH 1,760
O+ g 253,000& = 104 253
O+ B2 176,000& * 104 1,760
Od &1 (300L) 700,000& = 1CH 700
OFF=RE32 & E2RE32 HS 7€ 3,800
O#AME Tt 15,000& * 12004 1,800
OdArE "ol 100,000& = 2074 2,000
ABIOI 228 MEAIE WA 2,888,834 1,461,891 1,426,943
= 870,000
< 1,015,000
Al 1,003,834
SMEHELAZ ASFHAMG(HF) 280,000 0 280,000
T AEZHIZE0YI 280,000 0 280,000
1 A&l 280,000 0 280,000
OFZHMHLAZ AEMNLAY SESAH(HF)
280,000,000 280,000
HFFO0FRE 2B AEMEAS 1,900,000 0 1,900,000
= 570,000
< 665,000
Al 665,000
401 AIEBIZ 28I 1,900,000 0 1,900,000
= 570,000
= 665,000
Al 665,000




M MEANL D

g 20+ HSAE 22l

CH2|: AI2I0l HAS HSFAIE WA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 1,869,706 0 1,869,706
OFHFOPE HZE AMEINSLAE 1,869,706
OZ2AHH] 1,761,215,000& = 1JH A&~ 1,761,215
= 528,365
&< 616,425
Al 616,425
OA& Al & Al I 1,761,215,000& = 6.16% 108,491
= 32,547
=} 37,972
Al 37,972
02 22l 23,953 0 23,953
OFFTOIRZE MZE AEMEAIYE 2eldl
1,761,215,000& * 1.36% 23,953
= 7,186
o 8,384
Al 8,383
03 Al& 20| 6,341 0 6,341
OFF0PHE MBI ALIHEAY AIE20Y|
1,761,215,000& * 0.36% 6,341
= 1,902
o= 2,219
Al 2,220
SSEL)|ES20MEZ AIZIHLALE 650,000 74,830 575,170
= 300,000
= 350,000
401 Al HI L 2 0HHI 650,000 74,830 575,170
= 300,000
& 350,000
01 Al& H| 629,331 74,830 554,501
O=EEIIEZ0IME 2 A|ZQIHEAY 629,331
OZ2 Akl 593,571,000 593,571
= 273,956
o= 319,615
O& Al &E Al I 1,093,571,000& * 3.27% 35,760
= 16,505
& 19,255
02 22l 16,732 0 16,732
O=s8Z)IEI20IME 2 A|DIJHAY 22|
1,093,571,000& = 1.53% 16,732
= 7,722
& 9,010
03 AlE 201 Y| 3,937 0 3,937
O=Sa8m)IEI20IME2 A|LIHLEAY AEEH
Hi 1,093,571,000& = 0.36% 3,937
= 1,817
= 2,120
HOHUAZAME L Z2HSEEAE AIEINAAIS 58,834 0 58,834




M= A4 D
M FD=E2 MSAE 22l
fI: A0 AZE MISAE N

SN BA(SA) - MRAY - BES il HImEET
T AEHZXEUY 58,834 0 58,834
01 A& HI 58,339 0 58,339
OZMAAEZ=ME H Z2HSSEEHET MMM 58,339
O3 AtH| 55,000,000& 55,000
O& A& A 55,000,000& * 6.07% 3,339
03 A& =TI 495 0 495
OFMHAAZXHE X 2HSSEHE AIEHH
INE=Eaul:] 55,000,000& * 0.9% 495
LM E XM Z ot= MSAME HXA2a 1,241,876 1,670,955 AN 429,079
MEAE =Z2el & s#ZFFH 60,000 247,335 A 187,335
401 Al HIZ 201 I 60,000 247,335 A 187,335
01 A& HI 60,000 247,335 A 187,335
OMSAE ZZ2el & S3FUAY 60,000
Ox=dae & S#HEFJH(E=RTa2 2 44
2) 12,000,000& * 50 £ 60,000
FAL2el 537,016 585,481 A 48,465
101 @144 dl 44,736 0 44,736
04 JI12ZtHZ22HEE =+ 44,736 0 44,736
OMSAE Faod E= 6,213
OJles 66,800& * 3F * 262 * 13 5,211
OFx, Hix=E
66,8003 * 38 x 5 « 13 1,002
o4 Mal2E ™ 649
O=0dLEE 6,213,000& * 3.12% 194
OFEIQYSH 194,000& * 7.38% 15
O=8dgd= 6,213,000& * 4.5% 280
ons=sdg 6,213,000& * 1.5% 94
Ot Mol 2 & 6,213,000& * 1.05% 66
OMSAY 222 B 12,425
OJdles 66,8003 * 19 = 262 » 63 10,421
OFx, Hxt==¢&
66,800& * 1¥ * 58 « 63 2,004
O & F Il 200,000& = 1 = 13 200
o4 Mt3lE2H 1,264
O=0AdLEE 12,425,000& * 3.12% 388
OEINQYSH 388,000& = 7.38% 29
O=8d= 12,425,0002 * 4.5% 560
onssdg 12,425,000& * 1.5% 187
Ot Mol 2 & 12,425,000& * 0.8% 100
OMSAE =Xl 232H 21,360
OoJlzs 66,800& * 2H * 262 * 53 17,368




2N
X ZH -
L= B

el

M= A4 D
ZD=E2 MISAE 22
NS XRE2Z Gt HMSAE FX2e

£AH-ZH -2 (SH) - MRAY - BHES Of] Ak %Ei Hns2Z
OFX, oxt 66,800 * 2% x 5 x 52 3,340
@OJLPSE=,
8,350 * 2% x 1AI2t * 262 * 150% 652
OYES I 200,000 * 2% » 13 400
04l AlzlEE 2,225
O=0AA=EH 21,360,000 * 3.12% 667
OFSPIERl)=" 667,000 * 7.38% 50
Oo=0a3 21,360,000 * 4.5% 962
onssd 21,360,000 * 1.5% 321
O E S 21,360,000 * 1.05% 225
201 L2 78,000 61,424 16,576
01 At 22l 7,680 6,424 1,256
O 42 1,680
OFNAAYAE 222
35,0008 * 4% * 12A2 1,680
OHMSAY 2 E22 M= 3,000,000 3,000
OMSAA 23 LI HE 3,000,000 3,000
02 S329H 70,320 55,000 15,320
OHMSAE ANLHEHRAH(EZTRCEA A 5
HA) 5,000,0008 * 6§ A 30,000
OMSALBAANALY RIS
610,0008 « 12& 7,320
05012 HME2 RS MI23
350,0008 « 12& 4,200
0302 HME2Y =T 2= 400,0008 * 128 4,800
OMBAE WSRLBES(5ML)
9,000,000 9,000
OMSAE 23 QLT SXE$
15,000,000 15,000
401 Al HI 2 2 0H Y 414,280 524,057 ~109,777
01 Al&HI 414,280 524,057 A 109,777
OMSAE SANBX(HFRZ32 2 504)
12,000,0008 * 64 A 72,000
OSHAUSANE SXNES
20,000,000 = 13042 260,000
OHMSAE HUEA 33,462
OBFZ8AIY BLEY 29
17,490,000 17,490
OFFOIRE FUFY 29 15,972,000 15,972
OMSAE HIIEA 48,818
Oate)] BB (HFZSEEIE 2 4H2)
24,585,000 24,585
Ooterdl I BB (HF02E 2 40H2)
24,233,000 24,233
HMEAL dyl2e 81,500 314,781 ~233,281




2 A A&
PSP D=F0 MEAE 22
S M2 2RH2Z dle MESAE |22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 12,000 65, N53,851
02 3524l 12,000 22, A 10,608
O A& & H| K XYl 2,000,000 * 6 A 12,000
401 Al HI L £ 0HHI 69,500 222, A 153,400
01 A& HI 69,500 222, A 153,400
OJIHAEHl AMES 244
3,000,000& * 50 A 15,000
OFMAEH SANEX(HMSAIE &4
2,000,000& * 50 A 10,000
OAYAIEODIHEI )X B
1,300,000& * 5J0 2 6,500
OdI| &l 2= 4,000,000& * 504 4 20,000
ogssaEH B 18,000
OYsEsSedH B 1,400,000& * 5J0 & 7,000
OCCTVEHl 2% 1,400,000& * 5J0 2 7,000
OdEBSAEH B4 800,000& * 5Jf A 4,000
HEZSEAMAEYE ELHIAIY 563,360 24, 539,220
401 AIEHIL 20| 563,360 24, 539,220
01 A& HI 560,000 24, 535,860
OFF=TEANAE ELXFAY 560,000,000 560,000
03 A& 20HH| 3,360 3,360
OHFTZTEAMNEE EXHTALY
560,000,000& * 0.60% 3,360
HESAAL (AL DY) 52,872 142, A 89,829
Jl2& bl 52,872 87,550 N34,678
&l 52,872 87,550 N 34,678
201 YEr2 Y| 19,004 61,246 N42,242
01 AFR2t2l bl 17,444 57,920 N40,476
oJlegesadaE s (I=84dl)
500,000& * 139 6,500
odensg 960
O Xl & Xl 13,000& = 5JHAF = 128 780
O 15,0003 * 1JHAF » 128 180
oZEHl (JI=ddl)
8,000& * 13¥ * 8g * 12& 9,984
02 352494l 1,560 3,326 N 1,766
OAHOIETV =dl = 20,000& = 12& 240
OMESAE I AIEE
50,000& ~ 104 » 12& 600
oRHERI2 720
Ot H 300& * 1,000 300
OsJ|2H 2,100& = 200= 420




2N
X ZH -
L= B

el

M= A4 D
HY2LZH (HMSAED)

Jl=23tl

M- B8 a(3) - HEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
202 o4 | 19,968 21,504 AN 1,536
01 2L I 19,968 21,504 N 1,536
OJ|E=Z&H|
20,000 * 139 = 8L * 128 * 80% 19,968
203 SR F & 3,000 4,200 A 1,200
04 FEASHEYRFEH| 3,000 4,200 A 1,200
©J|l=M (152! 0Olat) 250,000 ~ 12€ 3,000
405 XHAHFEEHI 10,900 600 10,300
01 AL 2B F S| 10,900 600 10,300
O & Xt= A2 5,500,000& = 1CH 5,500
OA= & 300,000 = 1874 5,400




&b A S E A A
20199 &= =0lah LEEA 23U ~ 2U2

SN 202D
M AIQI0 BEE EH =2 0222 X4

&S FFAEN=H 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0 2F 13,967,886 12,904,977 1,062,909
2 9,300
J| 57,025
= 300,000
Al 13,601,561
ARl =8 2 =2 =32 =4 13,681,735 12,611,540 1,070,195
= 9,300
J| 57,025
< 300,000
Al 13,315,410
BNz 29 10,948,024 10,496, 130 451,894
AE0ol=E el 9,388,121 8,959,544 428,577
301 et A Z 9,388,121 8,959,544 428,577
o=t - 2sRSENS 9,388,121 8,959,544 428,577
OAg0ose ot 9,230,856
OJlgs 6,325,291
-“SHE(HSH)
6,250,000& = 498 » 128 300,000
—2EAE Y AH (63 2258 &Y
3,756,600 * 4H * 123 180,317
-=NHRA (73 152 &Y)
2,997,500& * 28H * 123 1,007,160
-UHAEHR (83 1552 &Y
2,691,500& * 33¥ * 123 1,065,834
- BRI (98 1458 &Y)
2,381,300& » 132 * 123 3,771,980
Od0= 502,108
g2+
6,025,291,000& * 1/12 = 50% * 23l 502,108
O=% 1,109,827
s 122,880
- B X 40,0003 = 1059 » 12& 50,400
=l = 20,000& * 12494 = 12& 29,760
= M XA 60,0003 = 51H » 123 36,720
AT KA 100,000& » 5%  12& 6,000
-AHHEHEEE 20,827
- ISEM 433,880& * 12Y x 43| 20,827
-Soxg 50,000& = 200H = 183l 180,000
-Hlsgs¢g 455,040
g4 & 4F
280,000& = 49¥ » 12& 13,440
s 230,000 = 28H » 123 77,280
- AR 200,000& = 33 » 12& 79,200
- LBHEHR 180,000& * 132 * 123 285,120
=R R 331,080




& AR E A A

20199 &= =0lah LEEA 23U ~ 2U2

SN 202D
M AIQI0 BEE EH =2 0222 X4

&S FFAEN=H 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEa3 2 oF
300,000& = 4% = 128 14,400
A HR 200,000 = 289 = 12& 67,200
- XA EHR 150,000& * 33 » 128 59,400
- YBHER 120,000& * 132 * 123 190,080
OF Mg A 130,000& = 197 » 12&8 307,320
OZ 2 FtHl
6,025,291,000& * 1/12 = 60% * 23l 602,530
Oxsd XML 29
1,000& = 900P * 201 180,900
OCLESEZRY3 6,325,291,000& * 1.5% 94,880
OANEH=2 H&ged o2
900,000& = 10 = 12& 108,000
OAME U= HAIIZ A
6,325,291,000& * 1/12 = 86% » 1/30 * 7 105,773
OANENsE M2 =22 44,492
OANZZ2exg
10,2993 = 12% = 30AI2t = 128 44,492
OS=HRH 7,000
OXIs+g 1,000
-= ottt 100,000& * 5= 500
-grEc 100,000& * 52 500
OoEZ=+g 3,000
- g okt 50,000& = 10=2 500
-= ottt 50,0002 * 30= 1,500
-gEc 50,000& * 20= 1,000
OR=+g 3,000
- gt (52 olat) 100,000& =+ 53l 500
-2 (52~72) 200,000& = 53| 1,000
-28H4(72 =) 300,000& = 53| 1,500
ANE 0=t 243 580,781 592,876 A 12,095
201 L2l 221,110 259,740 A 38,630
01 At 22l 184,610 219,240 A 34,630
O3gd ME 10,050
O akotct 10,000& = 80¢ =« 13l 800
ogad 10,000& = 55¢ =« 33| 1,650
O=2H 16,0003 = 50¢ * 43| 3,200
ossH 11,0003 = 402 « 102 4,400
o3¢y & S=HH 52,000
OI ALt ZAJA(EH=F)
1,000,000& * 50& 50,000
OR8¢t o4=5(28) 1,000,000& » 24 2,000




fM =2
M. AlDIO
=

|
ool FAEdes 29

= ct
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
OANEl= SHEE ML}
5,000,000& = 23| 10,000
OANEl=d sHEd A
8,800,000& = 13l 8,800
OANEl=tt S& 88 60,200
OtiAcHd 24,800
-2 dHLE =N 2,800,000& = 83| 22,400
-UHE S2LE 1,200,000& * 23| 2,400
(OFSE-SU S~ g 700,000& * 203l 14,000
OEE UME iS4 (K212, HYEH)
220,000& =« 403l 8,800
Otz 28 M (829)
1,600,000 * 13l 1,600
OE"IX ZHME E22 HHE (Y, M=
gs) 4,000,000& = 23| 8,000
OANgl=z=" 2 HAEHAS
100,000& * 303l 3,000
OAEl=Y Adea 28 & BY¥:A/3 &
AaG 24,000
oOHAZ Y 400,000 * 5% * 4 « 13 8,000
O&FIIEH 400,000 = 5% * 44 * 13 8,000
Oox=Jtgd 400,000 = 5 * 41 & » 13 8,000
Od3g 3SHYER 350& = 1,0008 = 12& 4,200
OANEH=E d20 KX 22l
48,0003 * 500 = 12& 2,880
OANEUH=E ANRES 7,750
Ousgetct ot Al SALE X (B4)
40,0003 » 10 A 400
OuWas a2a SAH EH
260,000& = 504 1,300
Ogad A2 SAEX 1,250
-Ad S ALE K] 21,0002 » 502 A 1,050
-B4 SALE X 40,0003 = 5&8tA 200
Og&EH" 284 SAI EYH
260,000& = 7K 1,820
O=%dc A84a SAEX 915
-Ad S ALE X 21,0003 » 159 A 315
-B4 S AtE X 40,0003 » 15%A 600
O=odH d2a A EH
260,000& = 504 1,300
ORE(YLALE) SASK(AD)
21,0002 » 59 A 105
OEsH(aLZE) Zed &Y
220,000& = 30K 660
OANEl=E MRY MRES 7 4,530
OsAMEX 1,030




=
H=E EH 2 (222 X4
yoes 29

A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
-AM S AEX 21,0002 » 30 A 630
-B4 S AME X 40,0003 » 10 A 400
O=AII EH 260,000& * 504 1,300
OxZely &4 220,000& = 1004 2,200
O4 7 ANEW==td SIS M
20,000& = 109H 200
02 =24l 6,000 5,000 1,000
Ost=2st0l=3al 2 AE 3t
6,000,000& = 13l 6,000
03 A2 Z Hl 30,500 35,500 A5,000
OFAY QAAER 29 13,500
OEEE MH(E=%, 2AME S)
3,000,000& = 23| 6,000
o%=2 H2 1,000,000& =* 23] 2,000
O=g 2 5,000,000& = 13l 5,000
OlIl ot S xt 200,000& = 13l 200
OEd 2dxt 150,000& * 23| 300
O3HEN Hl=+= 300,000& = 403l 12,000
OANglst SIS 5,000,000& = 13l 5,000
206 M= Hl 71,430 69,492 1,938
01 =8l 71,430 69,492 1,938
oungsdt dJ| ABE L &4 18,900
Omlot =2 150,000& = 104 = 63l 900
ootz = 1,500,000& * 1M E 1,500
O2AJ| 2l (2EtHI0lA, EteIl S)
500,000& « 10CH 5,000
ogmu I 300,0002! * 534 1,500
OmEE o Do U pE
00,000& * 20= 10,000
OSEE YI| ARE & 42 7Y 15,200
OLot =8 150,000& = 304 63l 2,700
O2Il «=2I(ACIAOIN, dAETO: &)
2,000,000& = 13l 2,000
O EC o 2o U Y
15,000& = 702 = 1038 10,500
o=t &) 2 ¥ AZF 6,750
OJtotz & 120,000& * 10CH 1,200
OAHAE1n & 100,000 * 6CH 600
oot = 800,000& =« 3CH 2,400
O&= 1 40,0003 = 30CH 1,200
Ottt & 200,000& =« 3CH 600
O 2 50,000& = 1504 750
OfREHL BHN= 30,580




AN 202Z 0
M AlDIO] MEH EH =2 (22 X4
oot BEARMEE 29 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2&EME 400,000& * 34 13,600
OxZHdo 20,000& = 342 =~ 6Z 4,080
ORM (L) 80,0002 * 10& 800
OFMH(MLE) 50,000& = 104 500
OHAZSZHH Y 300,000& * 2¢9+A 600
OAJ=el (7, 212 8)
2,000,000& = 13l 2,000
O 15,000 = 30 28 900
O9oaa 220l 1,000& * 3004 300
Ooa=2a AHola 10,000& * 2004 2,000
OaxZ2E2 AL 20,000& = 204 400
Ot Hel&E4A 250,000 * 204 5,000
oaz 200,000& = 24 400
301 gtE L= 180,280 180,000 280
09 SAAHIEA S 66,440 61,440 5,000
OFAY QAAER 29 61,440
OX Xt =< 320,000& = 503l 16,000
OZAM =¥ 120,000& = 5% = 503 30,000
odE UM ==& 150,000& = 53 =« 23| 1,500
OAH3 HR= 200,000& = 59 = 23] 2,000
O8dXt 3,000,000 * 19 3,000
O= &l 8,000& * 60 « 34 1,440
OztAald| 3,000& = 50 = 503 7,500
OANglst SIS 5,000,000& = 13l 5,000
Vo=t - 2sRSEd= 83,840 88,560 N4,720
OANE0= 2gHl 21,600
Oul ot 500,000& = 123 6,000
ogaEHd 500,000& = 12& 6,000
o=t 400,000& = 123 4,800
ossd 400,000& = 12& 4,800
OANEo=st =&l
8,000& = 129 = 5 » 12& 5,760
OX=X & MU= AAREHR SH0HI 17,280
OXI & XH(HR X})
20,0003 = 3 * 48 » 123 2,880
OARH& 20,0003 = 5 = 128 » 12& 14,400
OAI2 Ol= ot3tdiol 2 39,200
Ou gt 2 At
40,000 * 2AI12+ » 38 « 303 7,200
O&EE ZAM
40,000 * 2AI12+ = 48 « 303 9,600
O=2c ZAM
40,000 * 2A12+ » 48 « 403 12,800




M. o (BH) - HSAY - BAS il HDS2
Ossd 2
40,0003 * 2A12t = 4H = 303 9,600
12 JIEtE2 &2 30,000 30,000 0
oAM=t a3 30,000, 000& 30,000
307 212t0| & 63,411 57,694 5,717
05 0I2t2 et 32 63,411 57,694 5,717
o=2ctel oo 700,000& * 403 28,000
O39dE o
,950,840& + 18 « 12& 35,411
405 X+HoHF SHI 44,550 25,950 18,600
01 A&t = S F SHI 44,550 25,950 18,600
ONE st 28 2¢ 35,600
OIJHEIOE 34,000,000& * 1CH 34,000
o%e 2Hy 80,000& * 204 1,600
oNgEsEd 28 72¢ 2,000
(@)= 1,000,000& =* 2,000
OANE=2dt 22 2¢ 4,950
OmHHE HOIZ2 300,000& =* 600
OAMNEHF 350,000& =* 350
ouolel 4,000,000& = 4,000
oNgRsHdt 23 2 2,000
osgzs 1,000,000& =« 1,000
OzetZelH 1,000,000& =* 1,000
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201 et A | 36,900 36, 150 750
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ORUEX 2,000,000& = 2,000
OFUAEX 2,500,000& = 2,500
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OoTvVA R 21 2 &=
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o2 H& AME )
3,500,000& = 14,000
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09 HALAHIEA S 55,060 57,480 N2,420
osezd 55,060
OEAHX 5,000,000& = 40,000
OHA=A 10,500
-4 =483 500,000& = 4,500
-4 HRAZ 400,000& = 15 6,000
O AFEI R+ 400,000& * 1 * 33 1,200
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OX0tit=e ¢ 6,600
o2 & mote Xt 700,000& = 83l 5,600
OEEE ME(s% M= S)
500,000& = 23| 1,000
301 L2 LS 9,320 22,660 A 13,340
09 HALAHIE& S 7,560 7,700 A 140
OBdx ENHE 5,000
OXHA=A 3,800
-4 =NZ 400,000& = 29H 800
- HRAZ 300,000& = 109H 3,000
O AL Xt 400,000 * 1Y = 23| 800
ORU&d ==20|
50,000& = 2% * 23 * 2 400
OX0tit=e =4 2,560
OAXHJ =485 400,000& = 3H 1,200
O ALl It 400,000 * 19 = 23| 800
ORUdd ==20| 70,000 * 29 x 43| 560
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8,000& = 55 « 24l 880
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O=sd ¢ 32 S4E3dA 46,050
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OfUZ=s 2,500,000& » 198 » 33 7,500
OHA 42z 400,000& = 10 = 33l 12,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OOt 24 9,300
-2 Xt 700,000& * 103 7,000
-HA X 220,000& * 53] 1,100
-Ed Xt 150,000& * 83| 1,200
301 dBtE A= 27,100 20,800 6,300
09 HAIAHIBAZ 23,900 18,720 5,180
OHIOIEHA 23,900
OB&EIX Z2ME 9,200
-8 AKXt 2,000,000& * 1Y * 23] 4,000
-H 2| 600,000& * 23] 1,200
-HRAES AKX 400,000 * 4H * 23] 3,200
-R2UA Z20|
50,000& * 49 x 22 x 23] 800
OFAUES /8 EQE329 12,400
-8 AKXt 2,000,000& * 1Y * 43| 8,000
-AbS| AH 400,000 * 1H * 43| 1,600
-H 34| 500,000& = 43| 2,000
Ay 20
50,000& * 4% % 2 * 23] 800
Ot 84 2,300
-AbE| AH 400,000 * 14 * 23] 800
-RUHA =20 50,000& * 6YH * 53] 1,500
W= - 2sESE242 3,200 2,080 1,120
OFAEZE st EQRESZBH S|
8,000 * 50H * 44 1,600
OO It 2 S Hl 8,000& * 508 x 44 1,600
NEREHY 223 94,570 96,120 A 1,550
201 LEt2 Y| 54,850 56,000 A 1,150
03 A2 H 54,850 56,000 A 1,150
o239 54,850
OMZ L Xyl 40,800
-2UHNE H&E Y &X, dXt
10,000,000& * 13 10,000
-AYEH X L 4X, 22
5,000,000& * 13 5,000
-BHE S A & 3,000,000& * 13 3,000
-SolA M 660,000& » 30YH 19,800
-SHEE 100,000& = 30Y 3,000
OALRl A 1,100,000& = 13l 1,100
Oga 9 1,100,000& = 13 1,100
OTvVAZ 21 IMHE L &=
3,850,000& * 13 3,850
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
09 BAAHI 2 &2 28,960 20,460 8,500
CF=BlE=x:] 22,960
ORHAS(ZLS RUHSS T8)
3,000,000 = 13l 3,000
otz ¢ ¢= 5,000,000& = 13l 5,000
OSUXND U =Z(HEY, AEX, =24 S
) 5,000,000& = 13l 5,000
OXHR =T 3,000,000& * 2H * 13 6,000
OU X (=Y, o &) 3,000,000& = 13l 3,000
O AL Rt 400,000& = 1H 400
OfU&d ==20| 70,0003 * 4% * 2 560
0Jl83A 6,000
ORUZ=s(22Ls 2PUHEEs ELEH
3,000,000 =+ 13l 3,000
OSABIL(LLHS )
3,000,000& = 13l 3,000
V=t - 2sRS24= 1,600 1,280 320
OFIIEH =&l 8,000& = 40H = 14 320
OJIslE3 Sl 8,000& * 40 « 44! 1,280
ANESREE HOEH 92,610 67,440 25,170
201 Yet2 | 69,330 44,480 24,850
03 A2 Z Hl 69,330 44,480 24,850
OBEX 2NME 12,880
OHMZ 2 dXH(PU, =¥ &)
6,000,000& = 23l 12,000
OME &2 440,000& = 23| 880
OO0t 3¢ 3,400
OHA Xt 220,000& = 102l 2,200
OEd 2dxt 150,000& +* 83l 1,200
©=2elA0tA BHELA 29,200
OMZ & Xl 23,800
-FHNE M & &X, SX
6,000,000& = 13l 6,000
-AEEH X ¥ EX, 28
6,000,000& = 13l 6,000
-20ea M 8,500,000& = 13l 8,500
-ga ME 2 I
2,500,000 =+ 13l 2,500
-Z2Hl OIHE ZA 800,000& =« 13l 800
OME &2H 700,000& = 13l 700
OZa 24 700,000& = 13l 700
OEEE M (8%, AME S)
4,000,000& = 13l 4,000
O=x3¢ 23,850
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHM= & & Xtd| 17,000
-RUME 2 &X 5,000,000& = 13l 5,000
-ZHFH(EA ) &X 2 EX, 28
10,000,000& * 13l 10,000
-sEmY 4x ¥ 28
2,000,000& = 13l 2,000
OTVAZF 21 JAME 2 &=
3,850,000& = 13l 3,850
OEEE M (82, AME S)
3,000,000& = 13l 3,000
301 gt d= 23,280 22,960 320
09 SAAHIEA S 19,600 19,600 0
OBEX 2ME 10,600
ORHLS(RHESS TF)
2,000,000& = 23| 4,000
OXd =X 2,000,000& = 23] 4,000
Oos #g 500,000& = 23| 1,000
O ALl &t 400,000& = 23| 800
ORUHFE T20
50,000 * 4% * 2 * 23] 800
OX0tit= =4 1,000
OfU&dH =0 50,000& = 4% « 53] 1,000
©3clAOrA EEHK 8,000
ORUL= (s, 2UHAES ZF)
3,000,000& = 13l 3,000
OS9% BE(YLHD TH)
3,000,000& = 13l 3,000
O3+t 2,000,000& = 13l 2,000
o=t - 2sRSENS 3,680 3,360 320
OO0t 29 Sl
8,000 = 30 = 104 2,400
O3l A0tA HEHX =2l
8,000 = 40Y « 44 1,280
M=t JI23A 47,200 95,000 A 47,800
201 LBt 26,000 47,896 A 21,896
03 &Ar2 I 26,000 47,896 221,896
o542 A% BME 26,000
OFUEX(RU, &, =¥)
5,000,000& = 43| 20,000
OEEE MH (2%, AME )
2,000,000& = 13l 2,000
OAME 2 Ha 29 1,000,000 * 43| 4,000
301 LEtE L= 21,200 47,104 A 25,904
09 HALAHIEA S 21,200 45,040 A 23,840
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O+=sHds 8 2HE 21,200
OgHXt 2,000,000& = 1H « 43| 8,000
O# 3l 600,000& » 1Y = 23] 1,200
O A2l I 400,000 * 198 = 43 1,600
OfUMZ= 2,000,000& 19 =« 43 8,000
ORUAH 20
50,000& = 6F * 2& * 43 2,400
a0z 2438 At A4 I8 =4 1,741,510 1,257,846 483,664
Z U AIE2tel 272,182 406,840 A 134,658
201 L2l 107,136 137,192 A 30,056
02 =224l 107,136 137,192 A 30,056
ORMAE SANE(H&AEY S 30ML) 107,136
Onlsddg 4,224 * 19,740m’ 83,382
OHF0tEE 4,825@ = 3,000m 14,475
OFF=2et& 4,8253 « 1,923m’ 9,279
401 AIEHIZL 20 165,046 269,648 A 104,602
01 A& Hl 165,046 269,648 A 104,602
Oll=2dg FLMFH EH
24,000,000& = 13l 24,000
Ol=2dg FIltdzd 4
7,200,000& = 13l 7,200
OF=0EE FJItHEBH EH
5,000,000& = 23| 10,000
ON=2dg XotE =8 =3 A 63,846
O3 Atdl 20,000,000 = 30H A 60,000
O & Al 60,000,000& * 6.41% 3,846
O20AIE =& & SZFH
60,000,000& * 1JH A 60,000
SoAL A 22 972,977 385,766 587,211
201 £Br2%| 246,524 207,786 38,738
01 At 22l 59,798 70,711 A 10,913
052 RANE> & HHx2 11,500
ORNE> EE 180,000& = 5CH » 12& 10,800
OCHIIZM=E 140,000& * 5CH =13 700
oO&JI|gtM e Hl===2  900,000& » 12& 10,800
OAYOIHBY HH4+E
1,000,000& = 12& 12,000
OsZJ| etd el At w=l 20,000& » 1H 20
oAgordMae| Xt WS 200,000 * 34Y 600
OdJ| otE 22X wEH| 150,000& * 2&H 300
OZAIJtA ot Ze| Xt REH(LH)
289,000& » 1H 289
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M AQI0l #=E BH 52 22 FA
ool 230ls 2432 A8 AlE J1gt 24 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OHSAIE HXM2ALIX WEH(ZY)
06,000 » 1H 906
O&EIIEHl BIIZAL & HMAE =2 10,000
OWl=odY MI|dy erd A c
4,500,000& = 23| 9,000
OEF0tEE FIIEAM 1,000,000& * 13l 1,000
OYWsI| HIIEA=E
350,000& * 20H * 13| 700
OZAIIA HIZBA =28
350,000& * 24 * 13l 700
o2 HBZA =2
185,000& = 2CH » 13 370
ON+ZE BA 8 242
7,960& = 330= * 23l 5,254
OMz==x & S =HIANs=E 400
OM=z== 100,000& * 1o + 18] 100
O 100,000 * 34 * 13 300
OdsJ| et z2e| it A=
550,000& = 1H 550
oEgd , d=s7], JtAtd eI+ W=
242,000 = 29H 484
OABSLTALBAT DT 248
40,000& » 1H 40
OFSXT HAUHH =2 (3HD)
14,000& * 300m 4,200
ONEARY HUBIIE 5 +48
660,000 » 10H 2 660
OAWSIIE 22X W=l 25,000& = 1H 25
02 8323l 186,726 137,075 49,651
OAgord &3l 60,0002 » 3H 180
O&IIerM 2te| Xt &3l 100,000& * 29 200
OHIA4LAI HAZ2HI(ER) 1,350& * 4004 540
O=20Al4 &II4Hl S Xl
10,000,000& * 3JH £ 30,000
OJtAAIDHH A HUSEE It
100,000& = 13| 100
OJIA & AMHH A28 E=
20,000,000& * 304 60,000
OAMAE HH2 2oHAA
160,000& * 1087H £ 17,280
OHFOIEE 2U2 HZ L F2AE Zi
2,500,000& = 1CH 2,500
OFESHAMNE RAES 9,000
OUESRZ S4EH 2=+
2,500,000& * 200 £ 5,000
Oddds & SHHz 2B
2,000,000& * 200 £ 4,000




M. o (BH) - HSAY - BAS ﬁlf& HD=2
Ofls2ddyg A998 HWSI| M& L Y|
7,000,000& = 2CH 14,000
Ol=odY B2 L HH|
4,150,000 = 2CH 8,300
OHZOIESE Wea)| M2 ¥ FH|
8,000,000& * 1CH 8,000
Oflz2ddY =XZHAIAE S22
149,498,000& * 8% 11,960
OR0 A& CCTVAIAE KAl
308,317,000& * 8% 24,666
2l 29,470 27,980 1,490
01 & bl 29,470 27,980 1,490
AT P 2,000
[OE="PSIIDNDN 10,000& = 58 * 2004 1,000
O 80| H XFXH 20,000& = 10& = 5 1,000
O&MIINM 7+ 6,800
O&I U= 40,0003 * 5& x 104 2,000
O&AIA LED SHER 50,000& = 80JH 4,000
OA®IX & MBI F
10,000& * 5& * 169 800
OZ3ESH A28 F¢ 4,300
Osd A2 2,000& = 550M 1,100
Os= Aol=2 800& * 450M 360
OARX ol E 200,000& * 7H 1,400
osd 378 30,000 * 304 900
OsddH ¥ =& 3,000& = 180H 540
OIS0 AE A2F 7 2,000
OV E S 88 250,000& * 8% 2,000
O&Hl A2 4E 2 6,330
OFZH 4,000& * 3304 1,320
O™ 3t Al (30kg) 20,000& = 30% 600
2 2HH 6,000& = 1604 960
od2g A= 55,000& * 404 2,200
Oa=H 25,000& = 504 1,250
0O=2xD 4 8,040
Ollso g 36,000& * 20004 7,200
OFF0IEZE 14,000& * 60H 840
401 Al HI L 2 0HHI 652,583 150,000 502,583
01 A& HI 643,133 150,000 493,133
OFHZFOIESE ZXAH HLZA 520,150
O S Attl 250,000,000& = 204 A 500,000
O & A b 500,000,000& = 4.03% 20,150
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Oflz2ddY B2 HA=sAHUH WX S A
13,000,000& = 2CH 26,000
OS0IAIE HII SIS BA
7,000,000& * 344 21,000
Oflsdy Amaaey AUMH E3 A 75,983
OZ Akt 8,919,000 * 8IH A 71,352
O & A bBI 71,352,000& * 6.49% 4,631
02 2teltl 9,450 0 9,450
OFFOEZE SX&EH HESA
500,000,000& = 1.89% 9,450
405 XHo&HF S HI 44,400 0 44,400
01 AL 2B F SHI 44,400 0 44,400
Ol=2dYd E= A HED
7,000,000& * 1JH 7,000
Otz &Y HiLtg )| 3,400,000& = 11CH 37,400
SUAE 22 496,351 205,740 290,611
201 LEt2 A Y| 64,000 77,600 A 13,600
02 332494l 64,000 60,000 4,000
O39HE sl 18,000,000& * 374 & 54,000
02942 10t 8383 2,500,000& * 4CH 10,000
206 M = Hl 20,600 19,840 760
01 M= bl 20,600 19,840 760
ORUINHXNM 2 3,800
OJIAHEX 272 1885 200,000& *x 198 3,800
ORUZTYXM & 12,000
o2 &= (650W) 30,000& * 60H 1,800
o2 A I (1KW) 25,000& * 80H 2,000
Oost2 AU 2D (2KW) 45,000& = 80H 3,600
OIb 2 I (300W) 25,0003 = 400H 1,000
Ot 24X (1KW) 40,000& = 4004 1,600
OZMe= &= (2KW) 1,000,000& = 24 2,000
SUHSENMN 2 4,800
ootola(se) AHolg 6,000& = 300m 1,800
OALdlAHAHOI= 6,000& = 100m 600
ootola AEE 150,000& * 6H 900
osgdd ¥ HXRE 11,000& = 10074 1,100
omolola geEA3e 8,000& = 504 400
401 Al HI YL 2 0HHI 385,651 80,000 305,651
01 A& HI 385,651 80,000 305,651
Ofz2ddY sy RUHEX S8 LAU3
Ab 385,651
O3 Att] 370,000,000& = 102 370,000
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O& Al 370,000,000& * 4.23% 15,651
405 RHoHE S HI 26,100 28,300 22,200
01 AL EFSHSHI 26,100 28,300 22,200
OMzodY 2 DAM(ASHE)
4,350,000 » 60 4 26,100
ZUHAE2ZE 435 992,201 857,564 134,637
= 9,300
| 57,025
< 300,000
Al 625,876
AE2| U AIQIEHO HZ 443,371 362,564 80,807
101 @124 dl 370,161 321,984 48,177
04 JIZHHZ2XREES 370,161 321,984 48,177
OFA & SAFY 248,188
Ol Ay 66,8003 = 9H = 26 » 113 171,944
Osgd=¢
66,8002 * 9H » 5 » 11& * 150% 49,599
OZEFOtHI 200,000& = 99 « 23] 3,600
o4t B8 S 23,045
-=20dZ3 221,542,200& * 4.5% 9,970
-—20A2E2E 221,542,200& * 3.12% 6,913
YR H 6,913,000& * 7.38% 511
-IEEE 221,542 ,200& * 1.5% 3,324
- E Mo 2 E 221,542,200& * 1.05% 2,327
OFXZHAAE 2 48,261
OJles 66,8003 * 2% = 26 » 113 38,210
Oo&=¢
8,350 * 298 x 2Al2t » 13 * 118 4,777
OZEFOtHI 200,000& = 2% =« 23| 800
O4th B85 S 4,474
=03 42,985,800 * 4.5% 1,935
-—20A2E2E 42,985,800& * 3.12% 1,342
S YEH 1,342,000& * 7.38% 100
-IEEE™ 42,985,800& = 1.5% 645
—MHE Mo 2 E 42,985,800& = 1.05% 452
OSHE ot &0l 73,712
OJles 33,4003 = 128 = 182¢ 72,946
(@)=h=: = 766
—AHE Mo 2 E 72,945,600& * 1.05% 766
201 L2 | 7,140 6.600 540
01 At 22l 7,140 6,600 540
OFA U BAFY Q¥ Y=
0,000& » 9 * 28 1,620
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HE: A0l HEE EA =2 HEBA XS
Sel: 20AM2Y 23 (EH9l:®e)
SA-ZH () - HRAY - BES Off &4 %Ei Hnsz
OZ4 ¥ #2350 @4 N5
60,0002 * 9 540
OS0AL BEHE AL 4,980
O20Al& 22US M2
5,0002! * 355 * 128 2,100
O20Al& & - 24 RX2e
48,0002 * 504 * 128 2,880
203 AR Z=F Y| 2,000 2,000 0
03 A ERHR= Y| 2,000 2,000 0
2oz Nsgs =8 2,000,0002 2,000
206 T 2 Hl 32,150 26, 100 6,050
01 24l 32,150 26, 100 6,050
OHABE 2 26,100
O2HI+2l 205
3,000 * 1004 * 21% * 128 7,560
OFZ=Es ™A 38,0008 * 152 A « 128 6,840
Osd HYEs 35080 * 1800H * 122 756
OstmaE MEM 11,0008 * 2794 = 128 3,564
OstAS U&HM 11,0008 * 404 = 128 5,280
OBAE REME 30,0008 * 70m 2,100
OFAIA %X Ol 12,1002 * 5004 6,050
307 ©12+0I & 5,880 5,880 0
NEEEEET 700 700 0
CEEER= 700
ORUAE bIX 100,000 * 74 700
05 QI2teIE 2 5,180 5,180 0
ogeAs 352 * 24,663M * 63| 5,180
405 XtaHE S| 26,040 0 26,040
IBEEEEEN 26,040 0 26,040
O20AA SX 7Y 3,200
Oz &Y ®AIA 160,00020 * 1024 1,600
OHZ=0EES 160,00021 * 2JH 320
OHZE252 FAIN 160,0002 * 8l 1,280
O20AA X 7Y 22,240
OfzoNY HRAY S&A
141,0002 * 704 9,870
OfzoTY ARY SXA
141,000 * 704 9,870
Otz &Y MAIA 50,0002 * 50H 2,500
OASITH P (MEY FAA)
300,0002 * 2JH 600
I8 R ¥ el 29,800 0 29,800
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OTVAZF 21 AN 2 &=
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02 8323l 400,000 400,000 0
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Al 60,000
OZUHAIE TANNLARS 160,000, 000& 160,000
< 120,000
Al 40,000
22 S ZIAMY 109,730 85,000 24,730
| 57,025
Al 52,705
201 Let24d] 109,730 85,000 24,730
| 57,025
Al 52,705
03 &AL Z I 109,730 85,000 24,730
oggy=2= 23 Jl&82d 109,730
Ot =3¢ 3¢
31,210,000 * 33l 93,630
| 57,025
Al 36,605
(OF=3=4:] 16,100
“TVARE 20 SAME 2 S5
4,300,000& = 23| 8,600
-EEE HME (89, AME S)
2,500,000& = 33| 7,500
EQREFsE =240 2208 2¢ 9,300 10,000 AT700
= 9,300
201 L2l 9,300 10,000 A 700
= 9,300
03 A2 Z Hl 9,300 10,000 AT700
Oll=Z&uNs 9,300,000 9,300
= 9,300




o |- |||~ ~ |~ o |
A SIS 8
A0 [ VI ISV YV V] o |lo | o |—
o | e
E
=]
N~ © © © © — — ™ Q
318|888 5|5 |88 g
™ [ ]|]w|w|wv ~ |~ 3 > -
ma |& 898N SRR Z
Wik
RIS
— N~ N~ N~ N~ N O ) O O < < Al AN O O O O O O
2188|8888 EER|2|2|g|EBS8SEB8ERE8888 B RE52888288888 &8
© e} [ee] oo} O O < < ™M o™ _/y _/y n/_y —_ - — g ) > i I ) > > e i 5 . i g
© Q Q RS = T o »® - N O o™ N
<
(=)
— — ol — — - — A o
N N N N N N % — X * * - % w Tk - -
m_.__. : - N « P - * * PR * ; * * x
=T - = =] = = — = OF =
0 ~J ol oﬂm xAu < = 0 m © g = ol oY « w5 il of oU
= o o0} o *
m._ S X o ™ m (V] [aN] * (e} * o = m m m 3 3
: Q Oy x [Te) (aN) x x L nu; _A x o ol_ﬁ_ mw_ o - o m w
S i 5 = ; S,
; - ® s®w o ggge T o= 32¢8 g 88
= =0 . S ol od S o S x & @ C N © -«
o > 83 88 ¢ N « uoo~
I+ x on = e < o o &M ® 00
= ) oy
= o S cw ©° gy g B =
. © - — m_.o - o —
- e 5 = 82 =
N ~ =] O
mnlﬂ o 110 _ - \|)DO D w
50 il - I i) 0 1T ol no
o = o = o
C) - F 0 E i0J ol o 00 o o4
= T o+ gz 0
F | o % () T CAR
o oH wﬂ ma = DD Ok rﬂ <FOo<F kUKD W - o ol <k
. = _ = ol - 80 | 3D 0 RT RC RO RO < B Ok oy <H o
= oH o R [/ S @r: Bl % = I ov o of S W = =3 :
] = w ] O o [O0F O O O R R R 0l Ho ER| O 20
0 | = o |~ al |z © © © O © ® © ©

O
RO
10

Jl=23Hl




o2
HY2LHZH(2HSZ D)
Jl=23tl (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
OXot==0IBR2E3 400,000&  12& 4,800
202 044l 30,912 29,568 1,344
01 SLHOYI 30,912 29,568 1,344
O©J1=gdHl
20,000 * 23Y = 82 * 128 * 70% 30,912
203 YR =&l 4,800 4,800 0
04 EA2EYRFEH| 4,800 4,800 0
©J| & (302!0l3t) 400,000& = 123 4,800




